Statcroend: Statement is generally meant
group of words that have meaning it in Lagic
slatement means eroug: of words that Las two
tevang, first term 13 userd wuder subjoer and the
aerond term under predicale, The statements in
Togic are called propesitions or promises,

Premisrs: The promises that has the
major lerm 1z galled major premise and the
premise that hue the minor tern is cailed
M PTedmiae,

Term: The predicate of majer premisc is
ealled major termn and is denoted by P and its
suljecl 1s called mincr term and is denoted by
S and the terms which are common in both the
premizcs are called middle term which is
dexsnted by M. for ezampla,

Examiple:

Al men ars mortal. (Major Prom jge

Maw 2s man. iMiner Premise’

Ram iz martal {Conclusion)

Here 'mortal 15 major term nd its subfter
iz not minor term heve because it i¢ inmminog
premise also go i is middle term . Mibordobm
here is "Rany'.

In logic unit of argument is o&lled
propnsitlon or premise and unit of ehowWght i=
valled term. A propozitiod@s dulsrent from n
sentence Lhit ite predicata giber #firm or dony
the aubject, f.e. i we say thabihdve taken food,
In Lhis sentence predicate neither uffirma nor
denies Lhe subjdBwbobif we say that man is
mwelal then the ward Mioktal affirms the nian o
Lthis is a propesifismiand "1 have fakon food” is
just a serifencraNow Lhe question is haw will wo
identify the Major and minor premises in a
syllogsminproup of logical statemer by 1t i
pugsible by rdentifving the major and minor
teprnsnFur Lhis purpose study the [st and Tlnd
premises and idensify the prodicate which s
vital and wide coneepl. TLwill be the majo Lerm
and the terms which come in both the premises
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will he the middle terma. A term may have ofie
ward nv more than one werd. Moreover minor
term will be nsed us subject of the comddus o
#nd ite predicate will be the major term.

Types of Syllogism:
1. Categorical;
Here all the preposilivhis are cffgoricul
m positive or negative fofle snd no
docktfulliess i3 seen at dlled 5.

Al praduates aremelizihle Moo
All sligihie afe men (iruzey
Sore menaresradua e {Cone}

2. IIspalléeiival;
The syllgpizm o thiz (vpe uses promise of
coElifons Wil he works hard, he will
sarceRdTnMer: the first part b2 millod
antgeedent and the second pard iz called
wonacqlent. I this type of svllagien the
major premise is hypethetical laing snrge
thirg and the minor premise will he
categorreal. e g 1 he comes. | 2Fall meal
him. n thos s5Tlogsm.
[f lie eumas, Oviagjor)
T shall mneet him. (Tl

3. Disjunclive:
I thr type of svllopism the Aoy
premise e disfanctive and the nher twn
nramines are
catogorical, o,
Either he 13 an honest man
or A lleef (Mmer)
He iz am honost mun. {Mdimer)
He iz not o thisf, {Cone]usion)
Tn dizgjunctive statements two terms
opposite 11 mesning are aeed, IF frar is
affirmed the
second must be deniad,

4. Relational;

Here relatiors between various terms avo
showr orderly, e g,

AR B0 0=,

B0 A =T (conclusien)



5. Dilesma:
Iu such type of ayllogisms the major
premise is double hypothetical and minor
premise iz of disjunctive lype pmd the
ronclusioy will be sithers dijunctive or
CATELULICA., €4

i1 1f these hooks confivm to Quran thow are

reliable ifthey do notthay atesup erfluous.

ither they confirm to Quranr or they do

(110

Cither they are relinble or superfluome.

In the ahove example the aceond and Lhird

premiacs are Jigunelive.

#. Copula:
The verb used i the premises in logic is
callerl copula, For this purpose “is” sad
“are” gre gonerally wsed and logicians do
ot use war and ‘wore’ 28 popula because
logicians alwags talk in torme of the
prosent.

{id}

feed)

Types of Propositions:
1. From the qualitative point of view—
froom the qualivy point of view itisof two

IR

A Affivmative - e, A'l geaduates arc
men.

B. Negative - fe, No man is hari-
warldng.

2. From the quantitative point of views
From the quantaly point of view it is bftwe
Lypna:

(o} Umiversa'—n which the subfjesl L5
universal and refere o all without
exceplion. te., haman helng are
morial.

{ty Particular - which the subjoct does
nat Teier to sllde., dome people are
hard-worldng

The propuglicnwbith begins with proper
poun will algc ks, treaied as universal.
Similerly thawrep oaitions which tees poTased
like “ll mub nne™, 90% about S0%, etc, will be
treated aBparticular propositions, The words
1k Snwe Limes, olten., generally, ele, also maks
thepruprsitions particular.

The prosositions whish e words ke fowr,
little, havdly, seareely, ete. sre onezidersd € be
negative proposition. Stmdavcly if thero are
doub)e negatives used in 4 propesiiion then th:
praposition will becownz alfirmadne. Crn the
hesia of ahuve divizions we car zav that there
are four types of calegomes] propostions in
Lo,

1. Universael affirmative —il = called "A7
HCpOEItions, Te,
— Alllabcurers are hard-wnrking.
— Allchildren are true speaiing
3, Universal Negative—They ave called SE
prepoeitions, Le.,
— No minister is dadizaial,
— Mo human bewmg s hap g ete.
3. Particular Affirmualive@Phaiarafvalled
© ST, propasitiona, e
.~ Bome men are lar]-@erkies.
Some peopladre [ahuarms.
4, Particular Negatdve: ey are oxlled "0°
proposiicas. Be,
- Bom@ men arefwe hard working,
— Spmenninisters are nol honest.

Digiribution of Lerms in
proposifiongss
— Ungeage of & proposihiens ouly suhject
ta distribuked,

2 Inease of "I prapreLion both subject
and predicate are diswibuled.
In case of “I7 proposition aeither
subject nor predieste 1= dwmrib whad.
— In case of "7 proposition oply
predicate 1s distrduted.

Now, the guestion 15 how will the teyma he
distrilmted, Takes the cxample 0" A proposi GATISLY
“Nan is mortal”. Fere Lhe term mian has fwo
maaning. The fipsd, 1, T v cans humsa hroinng
and the second, 15 man means sadmiey, 1¥ thaz
tarm ‘man’ has besn used as denctaliun, it
mLan mcans froman being, the luron mean will b
distributed. {1 the other hond f man means
animality, Le.. connotalion ¢f e tema, it wll
not be distribntod becanse there ave vilior an-
male beridex man and the gropasiliog will mot
romiain Universal. -



Simularly, i case of ‘B proposition both
subject. and predicate are distributed, (.., no
man is happy. Here no man refers to 2ll human
boing and happy aleq refors to all without
axception. So belh can be distributed for Tngical
ernchuzions. In the third cnse of T proposition
neither subject nor predicate can be distributed,
i, "rorme men are hard-working. Here neither
the term men refers tn ‘g1l neither the term
hard-worlane” refers to /ll so both of them
eannnt e divtmbuted.

In the last case of () proposition only
prodicate is dastributed, e, some men are Dot
homest, Hive the term ‘men’ does not refer 1o all
bt the torm henest may refer to all soit cun e
digtriburtod.

Distribution of the middle or other wrms
help= us Lo 2verve at logical conclugion,

Types of Logical Inferences:
A Immediate Inforenee
B. Mediate Infovence
A, Immediate Inferences:

Sumetimes promizes are arranged 1n
diffcrent forms. (ut of thom some are true and
anme are false, i, 'some studeonts Arg
industriows’, iz a premise. 1f it is considered 10
ho true then ‘sone ctndoents Aare not industros’
ig alao true bul i we 3ay that ‘no gtidat i@
indatrions' it s false. All these aTrange et
are hased on certuin rules. Mhis Lis called
immediate inforence. We ahall disguss here
only {wa methods of immediatginfergnce,

1. Conversion:

Here weo deriveéonclesions by tiking the

following rules tnfo acgaunt:

) Predicatal@eomes the subject and the
subjrdtbecomes the predicate.

fh} Auality ol proposition doea not
undergo vy change, 1.0, Affirmative
Frapositen will Jead e affirmative
conelusion and negetive propesition
will lead to negative conclusion,

e A" proposition is conwverted intg I
pro-position. T proposition i
converted into ' and “E' inwe ‘B itsclf

fi1) Proposition "0 can not be converted at

alk. Examples will dlustrate chese
pointa,

fi) All ministers are politicians”
(A Propositiom). 165 converlbed
form is Bome politiclans arc
minieters {F pro-posifion)}

Bome moen are hard-warking (1
pri-posticn)

Its converted form i Some Raed-
working are mon (I prope@ieen)
Mo man 1= unmprlal, O(FE
proposataon) . Tra conssried thm s

G

{ud)

o imimmortal Cis
proposilion)
Somoe studenit: atemat inlellizeol.
(O proposiEonie
It gmmn't e dunverled o the
following way. Some Zniclligonts
avenot students.
2, Chicrsion:
@hvarled form of inforence is based on she
followingrules:
firhy Sulbjecs docs not underzo any change
But predicate is changed 1nto
rontradictory, Here contradiclory
doea not mean the antonym of vl
tevm. [B 18 not vzed in loswe. For
making contradictursy ol the leem et
aliwould bie added before 11, e, contra-
dictory of ‘lkind’ 12 not ‘orual” Bul "not
kind” is the real ronlradictory of
hind
Negative propaszitions are changed
wvto affirmative and vice-woraa, S, A
it chveried nto B oand I iz obverted
into A propostton.
fe) The quartity of the propositiou w2
remain the zame, I[ the propoztion ia
universal ik will remain unrversal and
if it iz partieular it will remain
oarticular in the ohverted form of the
conclueion.
Following examples will illustrate these
pointe clearly.
i) AN weligious peopde are enntendad
people, (Proposition A%,

man,  (H

fiL

(b



MNe religioues 18 1ot cuntended people.

(.
iy No man 1z fully impartiz], (&

propusiton).

Its vbverned Loem s

Al et e not fully impartial. (A
(fif) Some wen are hard of hearing. (I3

Tts phverted form ia

Somme e are Aot kard of eartag, (00
fir) Bume ductars are net gond. ()

Tlg alyverted form is
Sopie doctors are good, (1)
Validity Takle:
[uw order to test the wvalidity of the
~omelusions we may aleo use the fullowing table:
Lere T and t = truth
fand F = false
4 = doubiful

A B Il ]
o]t t I
{ A I I

il F T d
F d d | T

How to use the table:

‘All men are honest' is'a proposition ‘A" IE
it 15 conaidered to be trae then i the conclusion
propesition, E ie, “no man is honeat” will be
false, “Some homest are men” will be true and
conchuzion of ) propostion will also ke fdlee
Now if this proposttaon i considered to be false
then proposition ¥, e, ‘o man s henesL 5
doubtful and proposisicns L de., sevEe MER ars
honest' 1s also deuhtiul bt the proposition O,
ie. ‘mome men are not henest 1s frue,

“Gome students avemadtive” 1% an T
preporition i it 13 copsidered to Y Leue then
conclusion of "E° fropeéiion is falss. and
conclusion of A and Qpfopdsitions are doubtiul
whichia clear fenm the BRigd column of the table.
Hthe samoproposition is cunsi-deted tabe {alac
then conclustimegf T and O proposition will be

true atdcs Sproposition will be falze which La -

evidentfronthe second colummn ol the table.
R. Adadiate Inference:
Arrpang conelusion op the basis of che
odile term is calied mediate inference. There

AVe LWrD PreaniseE—ane L nvajer and the othe e is
miner wikh one sonclosion, Thia group of
arguments i techinically [ v i @y 1018w
An example will ibustrau: the pont.

AH memmals are vertohrawca. thlmort
the while 19 a mammal.  (ino)
The whale im: vertehrate  (Conclusion)

Here the word 'mam sl 15 oo Inom 1 hoth
the premises. [ Is middle texm. Thie duees not
peear il all in the conzhision evendon the basis
of it conelusion hias been drawa.

The eategorizal  syilopiam 13 1has
eszemmnlly & provess of compazison. [Lagh ixf the
terma 1 the conclusion is comparddawith the
middle terms in the pramises sndegancligsion s
arrived at on the bazia of the Middigtern.

The rules of caicgosigalisyllogism:

For arriving at rightfand valideieelwams
following rules or canonamust B keptin VERT

1. Tn every sylogem thef must be three
terms andfhctinorerhan three ie, the
major teymd the miner orm and che
middle Tormhes
Good chéracters are liked hy the
peaple;

JBhShaw usos good characters n his
novels,

THere are fuur serms moche above bwo
premisea because "Food ¢h aracter has two
diffrent moamng 1 Lhe wro promises. So
no valid conclusicn zun be drawn here.
The middle term must kave the identical
menming in both the premises snd ik must

Mhle to be duetnhuted,

2. kvery categorical s¥llogism must contain
buly three provuses - magor, minor and
the concluzion. A.g
Man ig morkal i)

Cioor 1= movtal (A}

Ram is 4 man {3

Theic ave thres promiges excludimg con-
elusion &n 1ic conolasion can be drawn
from theoe.

3. The middle term must be distributed m at
least one of the premiees. It ia &2 must
besguss it iz the standard of companson,



Il el [H used 10 at ICast 0ne premise Lo
L winversal extent, @z

sediinsnlary  rocks are  stratified
subslances. Some metamorphic rocks
are stratified substances.

Here the term stratfied substances iz nat
distritbhiled gl all because sadimentary
rocls agree with one part of the stratified
substane: and metamerphic rocks agrec
with annther part. Thus there are foar
terms.

4. The torm not distributed in the promiscs
cun not be distribuled in the concluaion,
An exsmple will dlustrate the point.

All ratianal beings are resprnzible for
their action, (I}
Brutes ave nol rational being, (2)
Brutes are not respomaible for their action. (33
Here the major term responsible for
theiv action iz dicinbuted in :he
eonclision but @ was aot distributed 1
the major promtise hecause it means that
only thase ate responsible fov their action
who are vational being.

§ &6 Twu negative premises vield no conelusion
and if one of the premizes is negative, the
concluston must e negative &g

No student dislikes games. (1
Mo game is fully satisfactory. 4}
Mo conclugion can be drawn from

these two premises.

Mo human being dislikesfustics. 4y
Studenta are human beine; (2
Students do not dislike justices
(Conclusion)

Here aneolthe t¥epramisesisnegativothat
makes Lhe conclugionngsative. Butdouble
nepdatives Ascdinapremise makeaitaffiv-
malive@ad spnclusion based on it will be
COFBLRCE, Sher,
Noandhe is not thoroughly upright isto
bie trizated. ’
Thisunan is not thorouwpghly vpright.
This man 1z not to be wusted .

7. No conclusion can be drawn from two
partledar premises.

a4 If one of Lthe premiscs e paruoalar the
conclusion must be parricular.
Four possible Arrangements in Loge:

Figure 1 Figure 2
L P F %]
Z s— 1na
S ™M §—— b
5 5]
Fipurc 3 Tigure
™M P P W
M 5 E
s——p M=
- It
2 = Bubject or minor term
F = Predicate ar major term

B = Widdle term

(M tke basis of Lhe forfiguies shown shove
and four wypes oF projesiiion: here are
dxxAxd = 256 types of Asllog s porsible, ot
there are colggls Walidfevllonsms whaeh ure
given below andalher are invalid. Thase (b
tigures #nd theip numbers muss he kepe m
view, begausehey will he voforred 1o later
chartars offosic every now and ther,

Figure 1 Figore 2
1. AAA . BEAT
2. EAR 6. AKH
3. AT T.AIND
4. TG B, A0

Fizsure 3 Figura 4
4ooAaf 1o, AAT

10, IAT 165, ATCR

11, Al 17, 1Al

12 B4 14 EAO

13 OAD 10 HI)

L4, ITTC

Some enmples wilt illustrate thess points.
1. M Allapirituals love humanin. (4

AN

b I Al Indians are spyciualzs. A2

B —1 All Indiansz love humuanity. 7
A& zvllogism is hare. Thus aon-
clegion iz correcl scenvding e
froure Mo 1.



2 M P Al students are hard-working. (4)
3 M Al g astudent i
8 F Anilis hard-working i

Svllesizm Mo, 3 (AL 13 here ac-
cording to Fygure o, 1.
3 C ZM No human heing is animal. (I
M2 Al anbnals have foue legs. (A
8 —PFP MNoman has lour legs, {E
Thiz conclusion is not walid
because DAT 3= not Lhers in
Figure INu. 4
Some studenla are Jaithial,

4. M |: 5
M—5 Allstuderts are Indians.

5 —P Suwe DLodian ctudents  are
fanthilul,
Svllogtam Mo, 10 (JALY is here.
Thus it 1= valkd accsrding to
e No, 3

5. P /M All animals Lke grassa,
5 % Lion does not like grass.
3 —7T Lion is oot an animal,

Thia eomelusion is valid because
A i their 1o the Figure No. 2

s thiz conelusions 1s corTect.

Rules of Hypothetical Syliogizm:

It ie pased on the connection hetweoon a
suppoeition or condition and it consequence A1
srartsby theword i supposing, gratred that, as,
ste. The partofihasvilogismnwhichezpressgsthe
eondition ia called antecedent andtheyclanze

stating the resultis cailed eomsequent, [nsuch
typeofsyllogismthe hypothetica’ premise iathe
major premise and the categorceal propositionia
theminorpremise. Followingruteamustbelep
inview whilearrivingatvalideoneclusionsinsuch
2585,
Fither affirm the antecedent ar deny
the consequent e g,
1. ifhe wers well, he would lesve the place.
2. Ha has not JeL the place,
(Con). He is not well,
Here tho consequent 1 devned g the
fullow:ag example antecedent is afhfamed.
L ITil raina today, he si@lhooties to
achocl.
2. Il iz raining.
(Con). e shall Aot go@s echeol
So always affivm the afedsdent or deny
the consequent a8he cdse may be for valid
copeliesiona. flbpfmiatake, conseguent is
affirmed [he¥allowingifivalid cottelugion will he
drawm.

1. AFBerledmpinLio: provailed, the rich wowld
1ot bepermiteed Lo exploit the pocT.

2. Thesich are not premitted 0 exploit the
pan.
(Can).

The above rule is
dizpunelive syllogisms.

Perfect justice is prevailing.
alan Tollpwed 1

FALLACIES OR POSSIBLE ERRORS IN

1. Fallacy ofambignoity: 1f middle term or
phrase are gobiguous wrong conelusion
way bheldwann, «g.

1. Eartisansare not {fasthful. (1
2. CHegublicara are partisans. 21
(Coneluion)

Repuablicans are not faithful.
Here middle torm partizans has two

LoagicaL CONCLUSIONS

meaning in the two premises, In the promiscs
No. 1. it mears those who ave projudicedy
ititerested in some cause bul in the second
premise it denoted the members ol a parlicular
parly.
2, Fallacy of composition:
When we noeept o thing or term to ba ivue
of o whole which just helds true of s



1. All the angles of o triangle are |

sometimes butchered by the rich. (1}

less than 180~ o 2. Rich peeple are always antagomistic
204 P oand € are the angles of this Lo bowoae swho Lve in slunea (2
triangla: £2) {Conclusion)
{Canclusgion) Fich butcher the ponr because <hoy
A4 Band (0 are loss than 180 hate them.
Hoere all the angles” in the first premise 4. Fallacy of Consequent:

means each and every angle talen separately
but in the saccond premise it means A, Band C
taken collectively It meuns whatb 12 true c[pat
can ook be necessaridy tre of the whole,
3. Fallacy of division:
It iz the moposite of composition. If we
conader that what 1strue of Lhe whole will
be true of paris when taken separvately it
will alen give wrong conclusion, &8

1. All the breds flv in the sky. {1
2. Cratrich a4 bard, {2 6.
(Conclusion)

Crstrich fly in the sky.
Cratrich 12 an exception which does not
- fly 1n the sky.

4. Fallacy of irrelevant conclusion:
We zome time assume 25 wrong
conclusion to be right if it iz near to the
right conclusion. This make: our efforts
fetiln o5

It vecuwrs whan Lhe conclusion does s
really tollow from the promeses and §i=
wrongly drawn duc o lack of logical
knowledwe e o
1. Ewveryone dezives happiness,

(1)
2. Wirtuouz people are hiapper.

(2}

{Conclusion)

Everyvone degiresbo bedariuous,
Fallacy of Accident:
The happenmig which gcoars very rarely
can neverl be regerded asz g regolar
phenoenon  of ocourrence and
carrchisiog w e wrong.
1., S hadvseliich is propelled moves, (1)
2l This bady maves. 4]

(Conclusion}

This body i propelled.

QUESTIONS

Type T

Birections: fn eoch of the follnunemg
guesiions there gre fuwe stademanis follorogd by

{z) Rita doea not like beauty.
() MNeone of these

gevernl canclusiong. Uhansedhe Best ane ofter 3. 7)) Goald is ductile.

appiving lopical reasoning, Thesagstateneill
wrreey b apd worsoce frore the cn rdenly koo
facts,
I. (i) All sistegs are miGthers.
fif} Some motheérsare children.

(it} This substance is not ductile,
() Thiz subslunce 15 not geld.

{b) (hald i= not ductils.

{t) Ductiles are not gald.

(d) Al ol these,

fir) All ofuldre nare sistera. 4. {i} The cahinet npassed the hill,

{h) Somesistera are children.
fe) Sammegnelhers are sigters,
NI one of these
2 (1h Paimters like beauty.
fid) Ritz is a palnier, .
] VALL thuse who hke beauty are

{ii} He 15 2 member of the cabinet.
fo) He paaaad the bill.
(&) The bill was passed by him.
fv) Amember of the cabinet can pass the
hill.
{d) MNome of these

PaTTers, 5. {i) All vweligicus people hate

fiai Hita lilces beanty,

corruption.
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fa) He is & religious man.
th) Corraption hates religinms people.
fed Those who hate covruption are
celigiona.
i) None of theze
8. {1} All men are liable Lo cammit
mirtakos.
(it} All priests are men.
o) All priesta are liable to commit
mislakes,
(b} Commirting mistakae 15 lnrmnan.
(@) Bomce pricsts don'L commit mistake,
{2} Noune ol these
7. (i) If it is elondy lion will voar.
{it) Lions don™ roae.
f) 11 is not cloudy.
() 1t ia cloudy.
fc} Tions roar only in cloudy night.
) MNone of the abave
B (i) We are dependent on our malor
CArS.
¢#1) Our motor cars arc dependent on
petrol,
for) We are dependent on proral.
() Tetrol is dopondent on ua,
fo) Petvol is (e depencdent of motor ears.
(i) Mone of these
9, ¢iy All plancts are round.
fity A car wheel is round,
o) A wheel iz a planet,
fi Planets ave wheels.
fr) The thing which ia round iz a planet,
i) Wome of these
10. {i) All tigers have four legs.
(i1} Mo cats are tiger.
{a) Mo cat has four lega,
fb) Mo four lagers aro cats,
{cl Tigers are cals.
fd} Mone of the ahove
11. (f) Humans can nSi™live, without
atmosphere.

{ii) Themoconis¥ithoutatmosphere.
fa) The man can ugh livg on the moon.
b Some men can aselive on the moun.
f) There is 9o Life possible on the mean,
fif) Al i thoze

12. (i} Semeiriaveles are fipares.

it} Some triangles are pentagons,
fiy). Sume penlapons are figurcs.

. {4 Seme figures are pentzrones.

diLbd WAL L i:l.lJL'j el
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iy Iene of these
13. ¢f) All lawyers are uncles.
fil) All girls are lawyers.
fir) Al girls ate umeles.
(h) All uneles arve givla.
(&) Some @rls are not uncles.
fel) Mone of the above
14. (i} Some ruots are ships.
(i{} Some ruols arc apples.
fa) Some apples are shipa.
) Some ships are apples.
fa}b Mo root is a ship
() Mune of these
15. (i) All the English speaking people
are fool.
{11} Mohan speaks English.
fir) Mohan is a fool.
B Mohan ia not a8 foal.
i Some Engliah speaking pecplears not
fool,
fil} Mone of the above
18. {i) Water iz a liguid.
fif) Tre is wdten
i) Lew is liguddy o Loe is aot Houed.
() Mo seeis liguid: (€} None of these
17. {i} Hénest men are respacted.
fii} Bhils ie ap honest man.
fir)] Bholaigrespeted.
{bisBhila may probahly be respected,
{e). Peaple Yle Bhols sre respected.
{ed) " All of these.
15.%4) Indiaincludes Hongal.
(fi} Bengal does not include TP,
fer) Tndia docs not inelude VP
By P i aloo a gart of India
fe) Bengal includes UTP.
) Nome of the above
19, {i} All the express irains stop here.
fii} Rajdhani does not stop here.
{) Rajdhani iz a passcnger train,
) Rajdhan is a fast train
fe} Rajdhani is nol 21 eXpross train.
fef} Mone nf these
20. {i) All chairs are stars.
{ii) Sorne chairs are round.
frr) SBome rounds aTe stars.
f) Some sters arc round.
o) No ster 1 round,
fd} Moe of these

At =St
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1. (dn P — M () = AlA
M 8 by = All
2] F f) = AH

2oy

3

4,

=]

(&)

(d):

. (d):

. {d):

. a):

el

Thus &1l the threc avllogiames are
tuvadid aceording to che Fipure No. 4

I B
3] M
o] T

Option (@) iz wrelevant. (0) i= correct
kecauge it follews the rules of valid
s¥llogiam AIT Moreover the term
Painters” s distributed in the major
promnise wy well gs in the coneclision,
[ I
s Iy
8 —FPF
Valid conclusion ACQ is hers.
Option fch can not be correct hecanse
nminer term must come as 2 subject of
the cunclusion.
tonclusion {o) ingically follows bt be.
canse of the fallacy of division ot is
invalid, { e, collective action can nat he
copsidersd an individuals action,
Chption () ean not be valid becaasest
suffera from fallacy of division, Opiion
(i and (e ore also invalid . Now@orriet
srllogism is

iy Al religious

sorruption.
(#} He is a religiousgnan.
{Con.) He hatés cormaption.

The option (o} whi€h sgems to be
correct 1z actually notiesrrect because
af the fallacy of aecident (b} is also not
logical infavence and (o) ig irrelevant.
Here she consequent iz denied (which
mustbeAndpositive snteecdent will
béeeme) negative. (In hypothetical
sylluutsmycither antecedent is affirmed
omemmscguend i dended as the gase is
herel.
Hare the aption (4) seems to be rorrect
bt becauae of the fallacy of the middle
term it 1z wrong. Middle term 18 not

people Chate

distdbuted either o the WHME 4
minor premises and Lhos there are Jour
terms,

O.{dp P

B —T

ITad the middle term ‘round’ beonfdi=2
iributed the conclusion would“haws
Bean right, e, "ATT" combifRidon ds
not therve it figure No. 2. 56 option (o)
ar (Y is nat trus,

100 (dye: i P
- At |
= p
Combanationfof BEE 4« net there in
Firure 1
11. {ap: P il |
o —& 1ar
8= P

Thegonclusion (@) is logically valid ba-
camise if one of the premizes s negative
the edtclusion will alzo he nagative.

F204d I o
M =
5 — P

Combination EREF 45 not there in
Figure Mo, 3 50 option (o) is nol correct
(Rule No. 7). Mureover no conciusion
can he drawn from two T premises.

13. [a]:gfz
3

Valid syllogism of 344 is hero
whith 15 there in Figure Na, |,

14. (d): Two particular premises yield na con-
clusicn. (Rule Mo 7).

15. (d): Option ) is nnt correct beeausc it
suffers from the fallacy of divisions
Mohan speaks Enelish but it is not
clear that Mohan does not apeak any
other language, So option (d) iz corroet,

18, {d}: Option (@} seems to bo correct but it
autlers from the fallacy ol accident an it
15 invalid.

P
AT
F




conelazion  must be besed  ep
probabifity.

18. (d): There are four torma. India, Bengal,
Bengal and TP, hus middle term

has double meaning in both the

premizes,

9. (ck P M
g — 13
3 r

L e = LT I E B L P [ S § wrf B wr)
o L=

W hmh ia based oo Figare Na. 2,

20, ()M f: F

h P
I'Iern the second premisc is the major
premisc and the first one is the minor
one and the valid syllogism of TA] i
here,

Dirertions: (Ine sigloment e gﬁum
Cfolfewed By oseveral conelustons fn oeorh
qiestionn. Choose the right one among the
ulternatives given.
1, He is an historian, so bhe ean not write
fivels
() No historian can write novels
{b) Sorme historians can write novels
fe) Historlsns can seldom write novels
fely Al of these
2. This man can't succeed because he 1s not
truthful
at Those who can get success are
Lruthful
(b} Al truthful peraons succeed
fe} Only suecessful peraone are truthful
fd} None of these
3. He does not go to the mosque 3o be (s not
a true Muslim
fi) Only true Muzlims go to the MOsqe
) All true Musglhing must go.ta the
meage
{e] Some who go to mosque afe trte
Mus|ima
(e} MNime of theze
4. eyl isan enemy because he'lectives the
pooples
(i} Those who devsive fhepéople are
ETICI e
bl All these whe deceive the men ars
devla
(r} Enemicalcdeive the people
() All of these
5. All right thinklng people believe in fate
fa} Somewho believe in fate are right

thinkine people
flp No right thinkiog peuple dogfint
belevein Late
f) Tho=e who believe in [ate are right
thinking peopls
) All of “hgec
6. Ttiz obviously falae that dmra—.tur-?. always
retire voluntarily
fi} Bome who rotire volosgasily are not
b tors
th! Many whogelive volunrarily arc other
than dietatorr
fr) Dictators rarelfretire volun bariby
(el All of theae
7. All dhste (150 15 nat, gald
) Chldny sthings that shine are other
than gold
{B! Whalever shines ix other thun gold
fc el s non the ondy glittering substance
) All ot these
8. Some students ave disturhing
(i) Some disturhing are stedents
(&) Some students are not disturbing
o} Both of the above
fa) MNone of these
9. -All sludents are not geniuses
f} Maoy studenis are not genics
) All geniusce are studenty:
{£) Mo atadentsz i3 genius
() Nune of theae
10. Some doctors are not pelicemen
¢t} Bome doctors are policoinen
f&} Some policemen are not doctors
fz] Both of tha abovo
i} Wone of thesza



1. {a): The word ‘20 declaves thal all 1he PTF!TJEE and {I"-'-]' i5 the distorted _ﬁﬂ'ﬂl- )
hiztorians can not write novels. 6. (d): Iz lagic always is the convernied form ol

2. (h): The zentonen isexclusive. Had he been -‘af‘ﬂ_}’- _ _
truchiul he would have susecedzd. 1t | T-(d): Option (0} is the comverled focm of the
olherwise meane ail truthful peraons pretcise and option (g) is the obvered
sucesed. Drubl acgatives used in s form Opion (4) means rhat glltﬂ:nqg i Tl
sentence tiske 1 alllvmwanivi. the qualidy ol goid but it 2 smme thing ol

4. (b): Option da) connot be correct hecause that makes gold gliucr. )
thers may be otherreasons to oo to the | B ed: Oplinm (o) is the couvertsd form and osnom
FTLOSE '.3m aptiem (hyis p— (&} is the abverted firrm ol JRefrcntge. .

4, (a% I duvil ceases ty Seertvo the people he | ${a)i Hore premise 'E is convelled ol pretmae
will noLvemiin the enemy. S0 option (@) 'E’ which is logically yalid agcording o the
1 anly correot. vahidity eable.

5. {d}: (}pr.i[]_n fmh iz the converted Torm of Ghe 10, (<}: Option (ab is the obvri=d Jorm aal () s
premace and ib;is the ohverted form of the comverted Form of He premise,

Type III
Directions: dsspmdng fhe  sialement 8, Statement: Some of those whe are able to
given ogoitst ench quesiion fo be troe T e Yemdle e,

determ ine whather ine canchision that follows
g trae, false, gdondtind or freelecont, Qoivan (a)
(5 for true, ib) for fitee, (b for dowbtiul, and (d}
for irrelenant.

1.

2,

=3

Statermnent: All esudents are not laga
Cone: No stodont iz lamy.

Stalement: A fow 27 those wholare
willing to tell their age nve fogla:

Cone: A lew [bols refuze to iell gheirage.

. Staterment: Some whelare ol very

confused are other thampeliticianz.
Cone: Aoy cne wlhods a politician is very
vrerafueed.

Statement: Few p@lilidians can stop a
popular revall,

Conc.: A fiw who axe able o z0p &
popular@rsoliire ther 1hn ings.
Statement: Wl who are immenseby
skillfnl ape cricketers.

Qonch Some cricketers are immensely
el tiful)
Statomicnt:
wtelligont.
Cone: Intellizents arve blnde.
Statermnent: All snakes ave poisonons,
Conc.: No snake is non-poisonous,

Home blinde wre wvery

10.

11.

14,

14,

14.

15.

16,

Concafome leaders sre uol unable to
talk.

Statemeni: Few people read The Times
wf India’.

Cone.: A few peonle read "The Thmes of
India’.

Statement; Students never etudy early
un thé morning.

Coneo.: Thoze who study in the morning
arc other tharn studonts.

Statement: Only traaty breakers arc
0T T WO S k.

Conc.: Tresty breaking is the part of com-
ITLLTIRTL .

Statemeni: All that glitters is not gold.
Cone.: Some ghttering objects ave gald.
Statement: Bablez cannot manape
vrocod e, .
Conc: Few babies can manage crocodiles.
Statement: o marriage iz
wasraccssfal.

Cone.: Somne marriages are successful.
Statoment: Some dogs can not awim in
the river.

Conu.: River is for swimming.

Statement: No teachor  commits



rmistake.
rone.: All teachers commit mistakes.

17, Stalement: (11 soldiers never die.
Cone.: Some old soidierz don's die.

18, Statement: Kvery criming! haa his day.
Cono: Some ceiminals have their day,

19, Statement: Students never fail to be
dilivcent before their exama.

Conc: A lew studenls fail to be diligent
bofore their cxams,

20, Statement: A few of the wise lack furmal
aducation.

Conc.: Many o7 the wise do not lack
formal edueatico.

Directions: Asspuming the slatemeid
given ugoinst egch question o be false
determine whether the ronclivsion that follows
is trua, false, dowhtful vr irrelevand, Ontion {a)
i for tre, (0) for fulze. fo) for doubiful aad (@)
for frrelevand.

21. Statement:
humility.
Cane.: Many of the braves do not or de
lavk Bumeility.

a2 Statement: Almost every ome favaurs
liguor on campua.

Cone.: Every one favours Liquor un
CAIIEN.

93. Statement; Whoever 1s just never fail to
b happy .

(lome : The just always fail to be hapny.

'ewr of the braves lack

24 Statement: Witcheraft s seldom
prartized legalby. :
Cenc.: : Witcheraft is always practiséd
legally.

25, Statement: At [cast a fow exepdisgs 1l
loric are tough.
Cones A east a few exorvisedin logio are
oot toueh,

26. Statement:
dishonests,
Cone.: A few studeniagdre dishonests.

27, Statement: Aygucenta are NeveT win
Conc: Arsurments Src always wor

Al students| areg not

wE Statement: A 1ow aets o AgETEREAIL
not ung ustitied.
Cone.: At least one wel af aggression is
unjusbilled.

a5 Statement: All zoldiers aw: not brave.
Cone: Some soldiors are hrave,

10, Statement: 3 {ew lions are not viciows.
Conc.: o lion is viclous.

Dirvections: Tuw statements v given
foltowed by o conclusion in coch of the
fnllcwing quesiions. Mark {m) if CORClrEL L8
frue, (hif it ie false, (o) if 78 i doubtfil, careed el
OF TF I rreleinl.

1. [ During puja days peaple vigit thosé
houses where puja iz performad dies
o there cven if they ure not indted
1I. Barnz wvizited the house of Baja his
affice colleague during pujé days
Cone.. [n Buja’s house ‘pua
performed,
82 . If there 19 a calemity. léaders go
around the affected area
[l Lhey mect thesictims and promiss 1o
help them,
Conc.: Such ‘syinpathetic visits guve
assurancato victihnss
88, 1. Indian students who go abroad do
well,
ILLTheyare offcred a job there as well.
Cond: Those counlries want to retain
such master mindz, so do net let them
return.
L “Hindus are allowed to have only ons
wile,
11, Wluskims ave allowed to bave four wives.
Cone.: [n Hindus she ratia of men and
women is almost cqual hut in Mushims it

Wh S

HES

iwl:4
55. [ Rabindra Math Tagore wrote many
PI:IF'_.'I"I"'IFL

T1. Rahindra Sangeel 1z very swect
Cone: Tagure himself composed tunes for
his poems which are known as Rabindva
Bangeet.

EXPLANATORY ANSWERS

L (h): 1 pemise & is trae premisc Fowill be
falee

2. (a): Mafeware willing, a few must refuge.

3. fdiNCorrect. comclusion i ‘pelitizana are

generally ronfused,

4. (d): The word king’ makes it irrelevant,
The rorrect conclusion 1s*Ne' politician
can stop A popular revolt.



Conclusion 1a doubtful,
A has been chverved into "1,

8. (c):

7. (&)

g {a):

3. (b): Few means no and thues it s premise

‘B it ie ropract premise T csn not b

correct. The carvent popclusion is *Ny'

peaple read “The Timoa of Tndia

10. {(b); Students seldum study early in the
marring is the corroct eone?usion.

1L (e} The right conclusicn i= hese wha do

not  break  the  wrcaly wre nct
COMCLTIU L.

12, {ak'All that’ means sure and  Lhe
conchugicn 1= an obverted form of the
proamige,

13. (h):See the walidity table column fireo
where "A7 iz morreer but B s falsc.
Coneluawn is premase E becavae Tew
means ‘no'.

14. (b): The stalement is the ubverted Grm af
“all maurrisees are auccesshilt. 1L

T means that some swecessful  are
marriages, Here the pramisze ‘K & 1rue
et the premiac °I° will be false.

L5, £d): It's a premiss ‘(). [ta vhverted fipm
‘aomle dogs can swim in the pivet” i7
dnuhtful accerding {0 the table @ud
“digz can swun in the river/{pramise
Al s [alse.

16. {b):If premise T’ s ¢rae pramize '& will be
Talee but premise 4@ 7o “some
teaciers dun't compeil miste ke” 1s true.

7. (ay It premise 'E™ idtrue premise 'O will
alzo be true accerdinglto the validity

I e L bl L it L B L |
alsu Be Leue.

18, (b Tfpremise B is true conclusion [ wild

e false. Ds lrue form 13 8 few

studenis do not fail Le be diligent

belore their cxams, (premise ‘O,

Ifpramize T s trur corelusion 'OF #10)

b donbrful bhut it s near to be e,

Tfpremize T w false, zonclusion 0 will

he trus.

[fprentise T is falae congdusion Al

also bz false seeovding e the walidity

tadile.

f preanise B s falge conclusion A7 will

be dovbtful Lol nedmes be true,

a5 most likely to be truc Leeause

seldom jsdhe imver3e of always,

If premisg 4l id false conclusion O

et he trtgy

U prersedE” s false conclusion 'I° will

T L

Ad): Hipvinese

Be doobful,

280 (a): Wpremiza 'O is false concluaan ‘T will
L Lrue.

29 0(1a):

a0. Thk

31. {c): Rama might have gane there for cther
purpnace,

32, (a): Promises always give assurance.

33 (o) It is cnly a long drawn one.

1. (bl Veory fow mustms huve move than
one wives even if thoy are sllowed L,
Rave four.

80 (dy

28, {e)
21, (a):

22, (h):

23, ()
21, (ak
I5 {ak
2k, (ak:

2'ig talse conshusion “a7 will

[
=7

Type IV

Directions:) In“each of the fulltining
questions therd @Ediwo statements follmeed iy
e coflusions, Disregording the commenly
B factfand applving the rules of lugic
mogr {5 oniy concluzion ! follaws fram the
sfalements, murk (0 i ondy conelusion IT
follawts from the stntements mark (o) if boih
jalime from the statemonts and mork fel) i
neithar I nor If follnws,

1. Statement:
{t) Foothallers are goneraily he althy,
{ii) Rashid is & puod foothaller.
Cong,:
(I} All healuhy peraans are foothallers.
(T} Rashid is healthy,
2. Statement:
{i) All meen are chairs.
fiz) All chairs ave tables,



Cone.:

(I All men are tables,

S () Bemc chairs are men.
3. Statement:

(iF AT boys are Tivers.

(i} Sume Tivers are girls
Conc.:

(1) Bome givly are boys.

1) Sorae Loys are gnds.

4, Slatement:

fi) Some bags are white
{ic} Sorne non bags are Loothpastes,
Cone.:

f1) Boms bams are tabiea.
(1) Bome whiles ave hags.
Htatement:

i) Some pote are cups.
(6] A cups e rass.
Conc.: -

(I Some pols ave Tats.
{76 All pots are not rats.
6. Statcment:

{t+ All apples are bananas.
fit) All hbananas are sweets.
Cone
T Some apples are sweats,
{I7) Some bananas arc apples.

7. Statement:

(i} Some poeta are fools.
(it} AlE foots are rich.
Cone:

T} Bome tich are poets.
1) Some fools are poets.

8, Statemcnt:

i) All graduates are typowTikers,
fi) All typowricers are hoasly,
Cone.:

(I All gradustes arc hoats.
th All boats are grafusts,

9. Statemont:

{i) All sinemad@rars are rivers.
(i} All rivers cabstoni chips.
Cone.:

(I Soail g tH A re MNeTma SLATS,

[=y ]

(I Al cinernia stars sat stone chips.

10. Statcmenl:
i) Al thir honesl people are mats.
Aii) Alocke mals arc politicians,

11.

12,

14,

14,

16.

17.

18,

Conc.;

(T1 All the honest people are politicianz.
1) Some polilicians are honest.
Statoment:

(i} All the dogs are cats.
fii} Bome eatz are white.
Coneo.: ]

D) Some doga are while,

() Some vats are dogs,

Statement!

f2) Geme tables sove glusses.
fir) All trecs are tavles.

Cone.:

f7; Snme trecs are glasses,

(I0 Some glasass doe LECes.

. Btatcment;

{i) No man i3 a eat.

{1z} ITaunid is a man.
Conc.;

{7 il ia it & cat,
(Th All wen are nol & ¢ak.
Statement:

{1} Some chaids apf hons.
{if) Table i3amelair.

Conc.: :

(D Barne lons are chairs,
(INMPable 148t 2 Hon.
Statement:

i} All piancs ate hnses,
fii) Al buses ara cure.
Cane.:

i All buses are planes.
() ANl planes are cars,
Statement:

HIT foathalls are made of iron ericket

batz are made of wood.

(iry Cricket bats axe not nade of wood.
Cont:.:

(@) Freathalls ave not made of von.

(Il Foothalls wre made of iron,

Statement:

fi} Gicmeral rules the army.
giiy Cicmeral's wife rules him.

Cona.:

(1) His wifz rulea the army.

{f) Army iz ruled by a General.

Statement:

fr) Al barels bave winge,

i) Bats have no wings.



10,

an.

21.

23.

1.

6.

26.

{7 Bats are not birds.
(I8 Those who have not wings are olber
than birdas,

Statement:

i) All wives are women,
(i) She is a woman.
Cane.:

1 She 15 a wife.
(24} Only she iz wift.
Etatement:

(i) Teachers are soldicra.
(i) Soldievs are wrmers.
Cone.:

(T} Teachera are farmers.
(i Taymers are teachors.

‘Btetement:

{t) Seme apples are yellow .
() Golden iz an apple.
Cono.:

I} Galden is vellow.

{II) SBormc apples: are groon.

. Statomeni:

fi Al cara £y
(£} Bome biliea flv,

Cone.:

() Adl cava are bikes.

{1 Some bikes do not fly,

Staternent;

{1} Sume crows are dogs.
(7)) All dogys are faithful,
Conae.:

1) Some faithful are crdwm
(£ Some faithful aredega.
Statemeni:

(i) A1l tables are anta.

{tt) Bome antaare chaivg,
Conc.:

I} Some tables are chaira,
(I} Buhe chaivsare tablos,
Statement:

ANEomE conks are Lazy,

(i Al bore are 1azy.
Cone.:

{1} Some Lioys are cooks.
(2} Svme cooks are hoys.
Statement:

(i) Moet trains arc pentlemen,
(1) BSome gentlamen are tanks,

a8,

29,

a0,

32

33.

34

e e el Y

(1) Some tanks are trans,

(I Some traina are tanks.
. Statement:

i All {lowers are beguhiful,
{2z) All flowers are parls.
Cone.:

{1} Some beautifuls are gnls.
(11} Bome girls are beautifel,
Statement:

{i) All prizoners are edusatad,
(i) Mo rman s educated.
Cone:

() Nooman 1= s priscicr.

(£{] No prazomeT iz mar.

Statement;

i) Adl potatubs arg birds.

(i) Bome porgtees afe hooks.

Conge,:

{f) Borac bools ure prratoes,
(bl Bunksdare bivds.
Blatement:

ot dogs hark.

(i} Bume dngs bite,
Conc.:
. (1) Those dazs whe do not bark also bite.

{M Barking dops soldom bite
. Htatement:

{i} Same olfices are hotela,
fed A1l hotets are clubs.

Cone.:

(1) Some clubs are offices.

(1 Sone wlfices are aot clubs.
Slatemeant:

ft) Some roads vre footpaths,
{1} Some highways have fontpaths,
Coane.:

I} Same highways do not have footpathe.
(I Bome highways have roads.
Stotement:

(i) AN workers ave tonchers.
id Al writora are Leachors,
Conc,;

(f) Some writers are worloee,
(1} Sorne Leachera are worlera,
. Btatement:

fi) Al Americans are eithor Canadiamz or

- Mexicags,



fi) Bome olates are cUps.

ity Mot of the Mexicana ave not wihite, ¢
([} Some cups aTe ERA0RI.

Conc.:
(I} Mo Canadisn iz Mexica Cone.:
(Tl Sorne Amencans are not white. (D) Seme plotes are spRons.
25, Statemnent: (I Soric cups Are N0t SPEE.

EXPLANATORY ANSWERS

1. (d): M I G.c):
s

5
Concluzwon  ¢F) 15 irrelevant andd
conclugion (1, AT compinatwn which
goems to bo ovalid suffors fram the
fallacy of eecident because of the word
‘renerally’ used in the statement. 7. (o)

- 2

2. {c):

AT 15 o valifl syllogizm hers.

5. [F.l__}: Pajik
g.(dx P M
M g / Torgeilr
Both the conclugions are nob cofrest k\ \‘ /
beeause “ALT iz ot @ valid syllogsm t/
aceordicg to hgure Mo, 4, Here maor
premise ta A premise, minor preguseyl 9- (b):
s 1" one snd cenclusions are also
premiscs.
4. {dy No conclusion can be drawen [rom ko
partienlar premises. (Adgording t rula.
No.Ti More-over propositims L, Le.
‘s e hags ave FHitE s thoverted into

‘semie whites afi ha@s so scoond conelu- 10. (e iy
uioh is also not caproet. Pl
5. [ok
11. {(b}»F Il

&1 5
g —— F




=4+ RMAWAALLUWGMEE ta e FTedl. DOCRsse 17 LS
the eomverted form of the statement
fieal but atatement I can’t be correct
Lecause the muajor term eannot be the
aulyiect of the conclusion.

18 (ck //”_ ;_
() @

LY &
Nt

14. {a): _
€

& ©

15. €d):

16. {4): Ina hypothetical sy llogism apnsequent
is denicd that is the gaze here and if
kath the causea aredft afffemintive then
antecedant will also beds egativa torm
breeause cf thaconditiong) phrase,

I7.¢d): There aey four terms in the two
stalements donmw conclusion can he
dravin Becawse of the fallaicy of the
miaddletearny,

18. (e [ M
"R B

H—_——"r

Concluawen (1115 correct because AKE is
1 valid eyllogism.

Acearding to figure No. 2 Conclusion
(117 32 wlso enpeact.

L3 I M
S : M
3 : r
Conelirsion I ia wrong heczuse All s
not valid. Corelusion 17 18 also wrons
booaae 1t can fot be exclusive @+ the
word ‘only' here shows,

21. (d): Conclusion (1) iz notsorreect because
T 12 not g valid sylogism and
conclusion @I irrel@rant. Morcover
o conclusion@anfbe drawn fromi teg
particdlar alfismdtive T) premases.

22, (b):P ¥
N

H - p

Conclnzion | is not correet because the
majer werm can wot be the euhject of
the conclusinn and eonclusien 17 iz the
converted form of Lhe second statement
of premise T intn '10

23 el P af
M=" &

] I

Conclusion I 15 correct because valid
aylogism of TAL is here and second
comesusion is the converted form of the
gecond statem nat.

24, (d)r:P M
I'.,.'_[Z L
= B

Comcinzion (Tt} CAII' 48 wod valid
pernrding to figure Noo 4 and
Comelnginn (1) males major fovm aa
the subjzet of the conclusion so it is slso

WOy,

25, (dy:F N
3 LY
3 F

Crnelusion s nol valid (AT aceording
Les the figure ard conclusion (10 makes



28,

28,

a0

31

()

(i E

{alk;

(ak

{d:

()

the major term as subjesc of the
concluziun.
Mo conclusion can be drawn from lwo

parkicalar premises.
/ Ciarle
a_,r'"_"‘\\

(rowe)

:

>~/ A\
[? A

N -

& F

Valid svllegiem ARE is there in figre 2.
And coneluzon (1) can oot hi correct
becanize major lerm is the subject of
the roreusiom.

—

!&,mullfl:lh\\

Ry P
vl g
& e

Conelusion 1 is corrset boeause valid
syllogism of AIT is there in Figure No. 3
bl *AlA7 is not o wald avllogism
accarding Lo the fimure so conclusion IT
18 1ot Correch,

Middle term dogs iz not discedhated
hare ap no eonclusion can be drawn.
And vonclusion (1) is a phrase onls,
K M
M 5

o

32 {a):

38, (b

g4, ok

25. (b}

Type V

Directions: In ench of (fite (follmeing
glestions dhere i3 o ataledient GF short
paragraph folfowed by o conglisiens §ond
1. Assuming the stotefnendio by irue nork -
() ¥ only conclision | follows,
B [f omly conclusiandd follows.
fo) T hoth Dana 11 follow.
{ed) 1f efther)] nor 11 filowa.
1. Btotement: Wrou are 4 good doctor we
have delinhtcly a cuse for yma
Cen I Youare n good doctor.
ComEl We ave in need of o gond doctor.
2, %Statement: ¥iser peoplzseldnm help che
TIOAT.

L L e L I’i'.l]:_’l L7 L.

= F

Valid syllagieay of 1AL s here and (B
eonclusion is tho alversed - sonverted
forr of the #tatement i,

N conclusion ean be drasn {rom two
particular (1) premizes so conchizun
10y dars oot [nllow but conchusion Tia
the obvarted form of Lhe atatoment
seennd.

P i
R B
5 F
iddle trrm Cbeachers QLs HBE

dagtribuzed gt all se no cogeiisIen cam
he draw . Moreover Add 1= 106 5 vaalid
syhirgism according sofizure Mo 2.
And conelusioe 1 @ the oomiaedtcd form
of the ssdement @ s 1lfis correcl,

If Americans are nofganatiane, they
are Mexramgd! soine Modioans are not
while, 1T mafitz scme Mo are
alza ot fhitel Comclusion T aley
frllia s hooa@Ee of Lhe word 1" waed
the statoer:nt.

Dorelision [does nothallow Decass (e
fiopranclazion con bo drawn frow bwe
padticalar premises (hymapor Llerman
not be the subjoen of Lhe conclusion. And
eonelngion 1 iz just Lhe obverted [arm of
the zlatcmnnt o)

Con. I Thoae wha are miscv nover Lelp

the pnar.

Con.Il: Ioor are very varely helpsd by

. Blatemont:

fho mizar,

Since the fecling of

guporiorily e built in whorever (bara is
aocial developmaent, thers is o LEtle tha
can he done to arreat it except 4% tho oo
of sockal development.

Con. I “To mainiain sovial developmenl

complex ghowrld [ alluwed to cone
time.

Con. Il: Secial develcpment and vom plex

rur gide hy side.



4, Statement: Recent rescarches huve

ghown thiat piragles have their root caouse

in the liver,

Con. 1I: The medication for pimples
should be adminizieved to the
[,

Con. IT: Ichaling of aleams is of no use
tor {his purpose.

. Statemeni: TL is written m history

books that most of the battles which tonic

place amoug vulers werc fought for
amazaqp wealth and beavtiful women.

Word War | has a background vory near

to L.

Con. [ 1If money minded people will
Ouurieh, Wordd War 1[] may
starl.

Condl: In elden daya wealth and
heauliful women were the major
coneerns for rulers.

. Stalement: The veeuns are erors house

of praclically every onineral including

2877 g, But like most other minerals i is

found in exuwremely Jow concentration

about 3 grams par 1000 tons of watcr,

Cow. I Sen water containa silver anid
iror.

ConII: Gold is found about 2 grams pdy
L) tons of water,

. Statement: 1t 15 evident [frofm the

historical informat:on thatgeved in

ancient Indis both the masters and
disciples valucd oot the“antity of
education but ita quality

Con. I: There was (angd idontity in
educational “$élues betwoen
{eacherg  and “8tudents in
ancient lndia. :

Con.Il: Qudlity, ofeducation is valued
and BEvERD more importance

thamy qreantity of education |

today.

. Sfatementilomestic de:nand has bean

inctegsing foster than Lhe produelion of

ndigenot: crude ail.

Con. I Nefrciency demand will Bave to
bie met by import.

ConIl: Thersis no need to cut domr patie
demand of cruade oil.

9. Statoment: The disparities betwern the

10

11.

[

185,

14.

problers of rich and the poar do oot
stazd cul clearly when we compare the
attitude of the law malkie bndics
towards these bwo strata of the sucety.
Con. T: Parbiameont da nesl dizeriminate
beltween rieh and poor whils
Jormulating policies for thim,
Con.Il: Law makers do not hdve
wdentrenl attiiude towaeds the
haves and have nods.
Statcment: 4 malwdjusted s 2 nan-
criminul who comnmits mrime fodthe sake
of adjuatment.
Con. I: Bome crimes Bave their roul
cauzg ko adjustmoflgrobhloms.
Con.Il: Maladjustment el
delingliengy o hand in hand.
Statement: Conétinudonsl morality is
not 3 natural senfment.
Con. I Santim&nts are always innawe,
Con Fliy Constigt tionas] moralily can be
aililiszatod.
Stalement: [n a police encoumter 5
terroriap@ind 2 soddiers wors killed snd
g injured seriously :
Lon, [: The clash was oot uncexzpeclad.
Can.ll: The only injnved was *he
LErI DLt
Statement: No oew tax haz bren
proposed in the budget of 1997-98. 11 g
still a surpli: budged.
Con. I: The hudget of 1997.98 may be
comsidered 4 gnnd Budgst.
Con L 1957-98 budgst ia a surpiua
budpet hecause no new lax has
bunn proposcd.
Statement: |t doee not maller whar
type of food vou eal. What mattera iz
whether you can digest il
Con. I: Any lype of food i equally good
as leng as it is divested,
ConIl: The type of fond one eat, is im-
material, _
Statoment: Now vou need not have an
import Lcence to own o eoftwars
cnmputer taday,
Con. I Computer soflwiarrs are mundr
indigenously, _
Can: Duty free compulers are now
availablo



L.

15,

1.

| ]
L]

Statement: I blue is heavy then velinw

iz Lght, 1f red 1o light then gresn Is

medium but blue is heavy or red i= light.

Con. I ¥eliow iz light or green is
Fdinm.

Con I Tellow 18 red.

. Statement: The best way to eccape from

a problem s to sclve it

Con. I: Your life will Le dull +f you don't
fivi # problom.

Conl: To cscape Irem 2 problem
demand some eolulion of the
problemm. '

Statement' Good iy the anemy of best.

Clon. I You shoeuld be pood to your best
ATICTIY.

ConIl: Best donut Le the vood.

. Statemcnt: The cssence of ono duy

evicket is the abilily 1o seore runs fast and
to bowl with a mizthare of conerol and
g roesion whish adroidy handled can tie

‘the opponent hand and faot.

Con. I: Eapil Nev who won the World

Cup i 1983 had all the abner

gqualitics.

Aggressive bowling as well as

faar seoring of runs ame equally

indispensable to win 1 une day

rricket mateh. '

Staiement: Magority

domorracy. '

Con. I: Tn a democracy condidates ame
slected by a majority of voles

Con 1l: Majoriey have the Doger|to
amend & law in parliatieut in
demoeratic snt up.

Staternent: ¥ herealfolof ey brother is

not Tnown sineo he kel this place last

vear by thal unluckyfbugmwhich cellided

with a lruck Gear Tazelbad,

Con. Tt Mg bravher@ens killed in the ac-

Con.Tl:

rules  1n A

el
Condlohsion of the bus and the truck
iz “the reason  behind  omy

brother's missing.

Wtotoment: Strikes are the imheront

riphts of workers for the purpese of
EECTITITIE jUALLCE.

3l

215/

I
=1

a5,

Com. I; Workers cap net get juctice
unlesa they go en sieko.

Con JT: Every worker most defend hos!
her inherent right,

Statement: by greatest need of India

Loday is muk of sood rescarchers but well

trained teachers.

Con. I: Tndis doca not neerd rezourehers
today,

Conl: Hescarchers ave leisl afiachod
with the umversahzation and
pepulartsarion of nua iy educarmn.

Statement: it is risky to avedfrome

Jammu tn Baramuia hacauac of thefag-

Zag road.

Cun. [: Jommu and  Taadmnls
vonnseted by Ll s

Con L [hers iz oo athar vicods of trans.
portation el Jamim.a T
Burandda.

are

. Staternent: Bookdvot et nowlsdee of

life o waelass

Con. I A1 booke@ontain koowlrdge of
Lifea.

Cofill: Pepple zhould bhe ancnus to
acauire the knowledge of life,

Siatement: All that glitters is not gold,

Con. T Judgoment gheouid ot
cxelurively he made on Lhe haz:
ofthe appearance.

Can Il (old doss nnr #hine at all.

. Statement: This bock is Lo codtly o be

warthlass.

Con. I %hken books fall shoet of supply
wicir prices o up.

Con Il The higher the z2ling price. the
superior 16 tae guality of Lbe
eormad .

Statement: Apars rom she sducatinnal

- value of newspapovs their roerealonal

249,

valies ahmald alsc T kept inte account.
Con. I People sake nowspasers 10 be a
means of imparling edwention.
The enterbainment value of
newspapers s alzo of peramount,
naportaree.

Statement: [ have nothing excepl Lhe

Con.Il:

©reality of ignorance.



Con. It The world of knewledgs is too
vaet o he explored by a single
BB,

Condl: The wiiler is ashamed of his
poor knowledes,

30. Statement: Books ave like friends whn
give nich and Yasting rewards.
Con. I: Always choese rich friends Liks
bnolia,
ConIF: Books gve us eternal aatiafacton.

EXPLANATORY ANSWERS

1. {(b): The comeegquent I= related with the
anmecedent. The werd “definitely’
rlarifies Lhat we need a doctor.

The woed a:ldom’ ia vary dose ta never
the viry rueely’ is also verv nearto ic
and Il conelusion is the passive form of
ithe statcment,

IM'we remoave superionity complex from:
the mind of the people we wil!
Jeaparcize social development.
Concluzion IT does not follaw hecarse
there iz ue refercice of steam i the
statewncnd.

The statement clarifes that there were
some exceptions bu this purpose of war
so nothing ran be dafinite Jy said about
a war in future. Mnorcover money
minded penple and kings are not the
samy thinge. :

Evary mineral ia found in ocesns And
also in low eoncentrutions butesennd
comelugion does not ollow he@age bl
mincrals are not found i the sume
concenilralion, 3 grams per 1000 tan® of
water concentrativn has® Feeny used
cxelusively for 2951200

Corclusian | also follafes becauze of the

2. (o)

N[ H
4, (a)

b. (b)

B, (a):

T. (o)

word “even” in tht statement that |

makes it A pdported speech of indirect

narration,

Conclusion®h) 18 ot correct heeause in

ordeifylo kecp a bhalance betwcen

produgtiometail and dom estic demand,

thelater must he cnt.

Sty the attitude of parliamentarians

towards rich snd pooe separately. Ifitis

idenlicaf then it will be difficulr to

distinguizh rich and pour on the busis of

their problems.

10.%¢e): Both the conclesizas can bhe deawn
from the statement but only one
ponclusion will be correct al onc time,

2. (ak

9, (ak

Thus either T fodlovans or 11 ol

11, (b): Sentiments are nalors! andewlo wited
both according to the statdmern,

12. {d}: Eneounters ave abwave uncspecied) and
the peraons who wa@ njuraded o
them, may either e o wdldisy or a
Lerrirst,

i3 (a} If burden of tax does nob inereaze oven
ther it is abl: 10 meft the budgetary
requircmend of thdzovernment, it is s
gocd bedgtt.

14. {a): Immaterial i@ the oppoaits of materia
Nahod Mkt

15. (d)iliberalization does not neceszarily

mean) that people have  sLaried

produt:ng comp uters indegenoualy and
ruatom duty and irport Keenee are not

Wentical in nature,

In hypotaetical afffrmative sylosiam, of

antecodent is affirmed it consequent.

must be denied.

Cunclusion [ ke irrclovant. Second iz

also not implicit becauso there are ways

other than ita zoiuicn for escape.

18. {d): Conclusion | and 11 hoth a=e won
implied, e.g., if we don’t like someone it
doee not mean that we are enemy of
thai parson.

19. {b): Comelusion 1 ig nol implicit beesuse
there is no refavence of a pariieular
ericketor in the statement. '

28 (ek Both the condusions [wllow ficm the
alutement separately, Soeitker L e TT4s
CDPFECT.

(el [ and IT both the conclusions profably
fillowr from the atatemsena,

22, (d): Correct infercnce may ho

fi) 1f justice s not being given to
warkers, thay have the rpht o go
an ALrikes,

(it} Nao onc haz the might to preven)
workers gning on strilke,

16, (o)

17. (d):

2

]
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statement does not talk exclusively but [

refars “the greatest need of India” and
1] 15 alsn prebably Leae,

24, {a): Nu auch problems wrises i rail or v
cervires g0 'bus services i the only
possibile vplion And there are vtker
meane glen and land ways is visky
amoeng them,

25.{d): Lind 11 bovh don't follow {rem the atate-
mMEn.

D Rl

inference and II one is a logreal one.

27, {br1t olhetrwise mean: thas the hooks 2re

an cxpensive fhat 18 can oot b
worthless (trapatnruai e,

28. (¢): Both | and T Aduliew
stoternent,

89, {d): Every one in Lhiz . 1l iz rpanyant i
many Teapoety, g0 there 15 nothing w be
pslroned of,

30. (b): Conchugicn 1 s Lraeld vant,

the

from

Tvpe Y1

Directions: I each of the follmring
greslions o sfatenut s wiven follotced &y b
Arguintet!s.
Mavk vour answer {u) if only | 12 strong.
Mark if if only argoment [T is strong,
Matk ée1 ifbolh the argurments are strony,
and
aatk id) i neither 1 nor I is strong.
1, Staterment: Shouldaducatinnbe givenlby
the government [ree nf charge ¥
Arg. T Yes, u will help 1o universa-
lizatiom of education in the
2OVILLY.

Arg I No, thersewill be budgetary deficit
cresing some now probloms,
2, Stgtement: Shouid caste eyatem e
hammed inthe [ndiansoicty 7
Arg. I Yes, il is a heavy barmer 14 the
way of speedy developmentsf Lhe
coundry.

Arg. 11: No,inwillglve chaneé Lo léwemsic
paople to run ihe gogerpanent
{hrough electivoe,

4. Statement: Should privateé sector be
permitted (o entef infd cho public utility
gorvices
Ary. 13 Yeg, thevaapd doicg well in

advanerd mestorn eonmiTies,
Arp, ILNo. (Bisriskytop utthese acrvices
b privae hands.

4. Statement: Should the gevernment scop
Aiding  tn minericy
egdnration”

imslliyvtions  of

Arg. T Vea, their pony quabty aferellAs
quantity of zfueatings wasting
thetind.

Are TT: Mo yuling pavi: will lose o= wate
hark in the cgrinng eleftions.

5. Statement: Should) setagles of only
deserving authors hegaliwed in be
published

Are. T Voo itawill save a lot of papey
whigdf®allaehort ol supply.

Are. T No, iclBmiL possible to draw ade-
mardior betseen the deserving
fdthe undeserving avthors.

6. Btatement: Shonld mikitary Lraining be

miade mmcursbent on all schan] and college

goifg atudents

Srg, 1: Yes, it will inculeate dizcipbine
amaong Lham.

Arg 1 Mo, itwillbring rogimentation w
education.

Sitatement: Shrald 1he pehieal partiss be

hannes ?

Avg L Ves, il 1s necessary I temsh oA
legzon o the puliticiaas.

Arg. 11 Mo, itwill lead teanend of dewrn-
CTHCY.

8 Statement: Yhould Tndin  soppeer

popnomie liberalization?

Arvg. I Yes, it wil boost vp industrial
dovelepmens leiuling Lo M
aupphy of Lhe rommedity and oW
PTiCE,

Are 1L No, il is against the Nahru's
dream of domoematic zocialive.



10.

L%,

12,

13

14.

15,

the world.
Arg I Mo, clw quality of Eealth care
sirvices will delerorate.

Statement: Should the duration of the

pavhiamencary povernment he 1nerensed ¥

Arg. It Ves, it will reduce the expensos un
electivns and  alse  reduce
wnflation,

Ave 12 Mo, 1t will take lonyer tins in
rhange aruling party even Talis
COITART

Statement: The edueated preople should

work i1t viiluges,

Arg. It Yes.  beeause they  can

revolutionarize agriculture and

zevamp the roral stmesphere.

No, beeause their cducstion

uprlit wasles thors in villa pos,

Staterment: Should movies full sf vislenee

he tel=cnsted ?

Arg. I Yes bocause children will adopt
suca behaviour feam Flms,

Arg IT: N, becanac violence iz the hewet
and soul of all pieturea,

Statement: Should guides published by

privawe ngences he banoed 7

Arg. It Yea, becavse only then ctudents
will atart reading toxt bofils,

Arg I No, because they avs of immie nue

help for wenk stidemts ot

eleventh hour.

Statement: Computedhade:d tachnology

1s very frwdul for bnd Qe develupment

in India.

Arg. I Yes, adguracy, fasi prodietuon

anddinenggs v pocable thriugh

com peitebirhimology

i) it will increave

uhcmployment inthe country,

Statemvents Agricuture in [ndia should

fediachenizad.

A I'%es ir would lead to bupher Errie
dustion.

Arg T No, many villagovs would be “ofl

Arg. TI;

Arg IF:

17.

18.

10

20.

P RLE TR LUE Malasementol Lictories
inlndia?

Arg It Yez it 1w ihe
wunagement thoery.
Mo, many worknrs are illitcrale
ard therr contrihution weibl reol he
ot wa o,

Statoment: Skauld chore ba wom o el
Binisrers oy statos 7

Arg. I Yes, unfyr ‘her the gpligh” St
womenwillbe removtl wpdghe
condition will impesgen

Do s womnn 8 oo capBble of
rulivg a state.

Statement: Shoujd publ idHes ting anﬂ
LDﬂ'FCLE‘nLEi be bfrigd :nghe countey?

Jrresent

A 11

Are T

Arge I Yes, (U 48 ahe place whoere
oppanents ot ahused,
Arg. Il; No, it js againsl fundainental

riglics @ven to citizens of Todis:
Siufement: Should macs media he [ully
porttralled W the sovern ment?
arg, I des the contradiclory news only
conlweesthe peoplo,
No, itz eredinlily will be doabtlul
WWmasze mediaizcontralled by gie-
ernment.
Statement: Sliould sex education be
gven in schaools ¢

AT

Arg. I Yos, it o5 given in westersn
LHOLTE e,
Arg IL: No, it is naturallv gained when

children grow into adalescrnee.

- Statement: Should religion e banncd °

Arg. L Yes. il develops Grnaticism among

- peaple,
Arg.TE Mo, relizion  Dinds prople
Lugather,
- Statement: Shouald Tedis have noe ooy
WP
Arg. I Yoo, i s nocesaar Ler protent. tise

sovercimnty und inleerity of the
rOLREEY,

to, this will disturk the Lalanze
atpowerin the replon.

Arvg O
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25.

[
i

9.

al.

Avyg I‘Iif_bil.t d AMAZES the Liver and the

hag.
Arg Il No, it will drivesoillionsof tobacee
worlors o,

State ment: Shonld drivers be prolubited

ta comeume Liquors ?

Arg. T: Yes. inveduces the chanee ofun-
conbeolled deving ol vehiclos.

Arg. II: No, “tuddstostamingin Lhemns.

Sizlement: Shauid competilive tosts be

olifectivein nature?

Are. I Yosileives fair undbmparlial az-
sessmontof the cxaminsas.

Are. [I: Ko, writing and organising abadity
ean 1ot be aaseseed throuch this
tiwi.

Starement: Should income tax be evaded

by the peonle 7

Arg. I Ver therate ofineome tuxisvery
ligh.

Ave. Il: N, it is illegal and unlawtul,

. Statement: Shoullsalestas be abolished?

Are. E Yes, it will eliminate  an
important source olesrruption.

A I Yez it will bring the pricesofeom-
modities  dewn  and  hence
consumers wil' be bencfited.

Statement: Should statc lotteriea be

stopped ?

Arg. I Yez, government ehould noc
promote gambling habits.

A T No, government. will have gt
guller loss of teverias.

Statement: Should higher educafionhe

restricted Lo the mest descrving students

Arg. T Yes onlydeserving plople avesn-
titled 2o this luxmy

Arvg IL Mo, iuis againsfibe jringaples of
cqualiy of cddcational
rppurtunity.

Satement: SHEulD primary teacher's

32

33.

ad.

B,

Avg. I ros, 1T wnlo ondllagh oS2id
motivalethem e teachinabetier
way.

Mo, it will imeizase financial pres-
awrer onthe govermuent.

Arvg. 1:

. Statement: Do wood qualive preducie necd

wide pubheity?

Arg. l: Ves, in the presont day world of

competition, suitomers ran net

know shout 4 now  product
withoutproper puhleis,

o, mond guality prediicts autoe-

maticnally aitract custamers and

thus spoak L thmaaslvea,

Sty tement: |1oos the svvival of giEELLeat

dietam fil today?

Arg. T Yes weak have vopgpotfchante
of achieving ~adviling i the
presentday worldulzompriition.

Arg, TI: No, woare gPtlatiginthe stone
Age e

Statement: 1Tas the wedical sciencs

resilly lengthened the span of lite ?

Arg, I, s, LhPnowidnags have buenable

toh gombat Lhe diseaser and

ineeasgs the spanof 1ife.

b, the etevnal truth Lhat overy

peraon’s daye are numbered can

notbe derred.

Statement: [s the younpest child happy

whena new baby tales birth inthe family?

Arg, T Tec. it iz exeiting fur him to have
a new member in the family.

Arg. IT: Mo, hebecomes;ealons of the new
T,

Statement: Should students srudy an

corly howrs of prorung

Arg 1l:

Argdl:

Arg, I Yes, mind ie frosh acd alerl al
Lhat wime.
Arg. Il No, early risers feel slecpy

throuzhout theday.

BXPLANATORY ANSWERS

1. (e} Argument ] follows hecause those who

ardManabls 5 sy education due Lo
i ometary problems, wl gon iF il s
e froe ol charge, and avgument B i
also strovyg bezause it will requirs
additional budgor inereasing financial

2, (ak

burden on the guvermmaent.

[Vivizion of soclety on the bosis of cagte
in veally a hard =tone in the way of
speedy [ow of social and political -
flnerinning 8o Argument | & stzeny bul
arpunient 11 does nut follow hecause



2. {d):

4. {a)

a. (i

6. (h):

T bk

8. (ck:

peaple  are  already runming the
BuvETMIaent at various levels thus caste
svavem bear liltle impact on this issee.
The condition of u developing COUNLEY i
entirety dilferent as compared to 3 de-
veloped nation. 8n argument T 3= not
strong and argument 11w alzo weak
hecause private sector is doing wall in
Inany coonemic arveas and  their
credibility 1= unquestionahle,

Tt t2 u faet based on rescarches that
quaiizy ag woll as guantiyy of cdeuation
n winority institutions, barring i fow,
is cxlremely poor becuuse of many
reasong as compared to governtmen ly
inetitutionz. If we compare the
sehievement with maney invesred it is
less than 1/10th. 80 argument first is
stromg. Second argument is not atrong
because ' ruling party must acl in
accordanice with the gencral welfare of
the people disregarding its vate hanl,

Li is clear {rom the second argumont
that there is no way of identifving
deserving authors. I the uriteria of
deserving and non-deaerving authors
are the significance of thesr avticles, the
question of investigating inta thé
author does not arise. So argumentdis
weak and 11 ome iz sirung,

Argument T ia weak whirh iy evidéng
feorn the I argument which i3 real by
strong. Moreover, Lthe disciplineshich
15 there I military, wEedifferent tram
the discipling that wéwant in anlloges
ae well ue in ke Usdurety, I will
definttely  inereaze Spgimentation
becawse every cri dosg not like military
training andhisfrecdom of choioe ig
challenged haye,

Argum&pt B8 strong hocarss where
thergaremo pilitical parties there s 1o
demberagy.

Firgt arpument iz based on sconomie
peciples and laws whils the second
ene had its urigin ine histore and
pelety

10. (b):

11. {a):

12 {a):

13. (h):

L e

15. 4a¥k;

18. (b):

SRR RLEST

madel can not he the base of an
argument ad naticnalised healll eire
SRPEIRS are not alwaya atlached with
pobr health sevvire, o argmanent [ ia
also weals,

Hxpenses on electiona ure rot the sole
eause of inflation a0 argurient | is wesk
bri argument II iz strons heoeadss
when a ruling parly iz not = AT
gldz actorily we can char ge | Ldmaupl
clections and do awsv with o [
Fopulay vobes,

Argument Lis strons bpfanze Ly el
their cducation properls (ller 2an
revolutionarize agrfeulnifguad revamyp
rural admosphoss, TE doee not mesn
that theur edfcation iz%einy whsted
there.

Only argfdlentViyié strong, because
=uch miwics gheate lhe attitude of
volghor vdpecially in aduls.

U deensies stop puldizhing puide books
ik 15 Nt nedeszary Lhat students will fils’
rhraitghftest books. Studv hahits are
mplated to  olther wariables like
intelligenve, sociv-scomare: statis, sim
of life zte. On the other hand Lhere 32 nn
douht that swides are helplul for weak
gtudents, By arguinent I ps strong,
Theme 13 o doubl at all about the fi-s
arguieent and IT 1 alaa strong becsuees
India is « populous cowntry where
labour intensive fechnigue ss mcre
suitable  than  ecapital  inlensive
tarhniguie.

Meckanizalion in ssricuttire dose nut
mean Lhat Many people will ke their
Tebs. Mechanizalion generally he Ipsin
reducing the wse of animals in
agricilineg.

A rule which 35 supporied by a thaney
thues not. guit to all cleevmstinees,. So.
Argunient Lia tot strong it argument
ITis really a fact at leas: in Todia whise
Llerasy 15 rat more dlan &% while
manugcment roguire (inz picee of
rducation.



13. {b):

19. {h):

20, {d):

21, {(b):

22 {adk:

23 fay

24, {a):

of women were stepped by men and so
is the vase even tnday, So arpeienent Lis
weak and argument [ is alse weal
hecavae many of the women happened
o be the rulors of states and nations
and they aro vuling wall even tnday,

Righi to frivedom of expression ia g fua-
damental vight %o wrezoment 1) s
strong bul sreumoert I4s weak bemse
it rarcly heppens that opponenrts are

abused in pubic meetings and
conferances.
Arguanent T s not strong becuusae

whenever there is 1 contradiction o o
news it iz ot becawse newspapcrs ox
TV are in private hanads: bt other
reasens are roapohaible e it Bvon in
grvernment controlled nesvapapers, one
news sometime contradisis the olher
news. Government's controlled mass
media gencrally spesk the languape of
the rubing party and Lhus its credibility
bosomes doubiful.

The ruthwee of Indin is wery much
different from that of the waatern
countries, Ho whatcwver is liked thore
may not he neesssarily reganded gond
here Moveover, children necd not such
t¥pe of educaticn but they arve adults
whe should be imparted sex education.
Encwledge of wex in voal sense iz not an
mnats provess.

There iz nu doubt in Lthe fact thas
religion hinds people tagether but if 1s
doubtful that it develops fanaticism, All
relipicus people bHle humafiits 0
general amd love huan bdingdOnly
these who are exhibirory afad belizve in
croeudile s trav are [anatical.

Having a nuclear weapon (ABAE thene
and u=ng it dderiminately s
ancther thing. Sdargiment T :s strong
Bul IF one ‘s not sfongbecause some
other couni@ics of the Terion does dlue
have it

ArveumentSl Us based omooseienLFic
reedkhosburarpument 1 s not logie]
Its PFegsomas)EIven L aeg warent |,
Controlled driving 2an nac be done in

25, ek

28, (h):

27. (a):

28, ()
20, (d):

30, {h):

31. {c):

e slrong but argument 11 iz weak.
Conavming lguer docs  ineresss
atamina for a whi'n il after that it
crashns the nervous system,
Arpument | Qs the advanbge of this
type of test and argument 17 is roally
the woeale agpeet of Lhe tost TE ia net
nessible to measure wriling ability,
speed, epelling, nrgarizational alality
ete. through multzple choice tests,
The rute of income tax s really very
Iugh but even then we showld not evade
1t berause il 18 againat law,
Corraption s anvolved not anly g lax
cullesring bk aellers of the commédities
are alen habilual with scveral tepes off
corrupt activities lilie black®@eloting,
fake recoipts ote. S0 adpumcmi [is
strong. Bul orgumpat B iz Swosl
beease in 4 froe fiarker pPlos are
determined by the fimens of demand and
aupply. If tax s eliminafcd from Lhe
comeiodity ssmprice will o down and
e demupn - will fncreass that will
rizult N Adeee AN the Drices ggain
Bolhdhe argiiménta are not strong.
BEquality of jcducaiional opacrtunicy
dfzs nobyménn thal evervone must e
gizerihe chance of peclng cducalion
ifrespective of his talenls, It simply
means that any citizen of Tndis wid nok
be discrimingied on the bazie of his
caste, crocd, colour or professinn.
Higher cducaticn entails higher costs
a0 srruliny 18 a muat hers.

Study shows that salary of Lhe toacher
has littls impact on their professional
abiity and modivslion. Mozt of the
teachers ave daing well in privale
rehools on small an'avics. So avgument
Itz ot strong bul arsement [T 12 veally
atrong kecausc heavy finance will be
needed for puving =alames to toachers.
Without proper publicity weennnotrcl|
oner customera about the quality ol our
products butones it iz wtroducerd in the
market aller small pobilicity, prool:
chooae ithecause of itz high quality and
other people are infurmed by those who



i B e o= 5 B

survval nf'L-hE f'itte;t-.

that of the 1.

33..{3): Azsumption ITis nol sleong hecausc ita | 35, {a): After sound sleep mind becomes Fresh

mesnng in entive b differont from that

Type Y11

Directions; There nre g stialenioeds P
and G each follmoed by an teference. Now
determine which of the slatemends supporis s
wnference, Mark {a) if anly stefement Fis irue, 7.
Merriz (B3 1 oely stalement & s frue, mark (o)
if frotfe Boaeed € oore Lo eencd rceely (dp of necilier
of then ty brue i wccordaece ek loger.

1. (P Waror bails at 100™0. Thas kquid boils
at 1007 Therefore. this ligeod 1= g,
waler,

= Beery bottle with 2 preen label
containg apple juice. Apple juice is
gafc 1o drink, Therefare, 115 harmless
to drnk from every bottle with wreen
label. 9,
All, that twinkles, are .stars. Moon
doea not twinkle, Thersfore moon iz
net o st
€0 All the motals are not in =olid forms.
Mercury 13 1 a ligud  lorm.
Therefmee. meroury 16 alao a metsl. 1n,
3. I Girla play chese—Chess 16 a diffienlt
game. Therefore, givls play adifficult

5

gHmE.

iGN Sheeta iz a duclk. Ald dugks are
naughty. Thorefore, | \Bhesla® ia 11
raughly.

-
=

Monkeys like w@nPu. A1 men ke

manpgaes, Thopelo®e, all men e
monkatre,

(L Pluncts dre stationrry. Karth iz a 1Z.

Hanet, Thepelordy earth is statinoary.

G. I Sorme midie ks e apples. AN pudgyas

atimargoc s Thorefore, all apples are

gk ENISETR
EEarme mangoes are spples. All applos
arrgpapes. Therefive, 2oma mangoes 13,

Abe CrApES,
Sowne tables are arazs. AlL sEools are
grags, Theretare, some stools e
tables,

=
i

and alesr,

@ Every sensible peraon likes mwusic.
Tngians are senaihle people. Thegelies,
Indians Lke msic,

(1% All fiah zan thy, Same fishsmee Seds.
Thoreforo, some hivds can 11y

[y AN fish oare Wirde AT bicds e
nauphty. Therefgre. all™WiEh  arw
rnanahiy. _

I Mo policemarn litkestheaticy. He 12 2
palicemangiherefore, he doss notlile
bernty.

) Bume m ugiéiang e ol reein Al -
sicidne are palile. Therelors, all polile
pergons afe not rich.

(%Il musicians are rich. No rich parson
igpalite. Therefare musicians are not
o,

i Only 4 MNewwn can solve Lus
problera, He is Newiton. Thevalore, ke
can salve this problem.

M Al caps are rod. Al aawdenrs woar
veps. Therefors, all students wear ved
CELE.

) Al wives are womsen, Kamla is a
wrman. Therefore, Tlamlz is 2 wife.

i All pold zhines. AN zilver shines.
Therefore. ail pald is ailwver.

i All pold shines, Al silver zhines,
Therefore. all that shines is cither
gald ar silver,

(P Some philornphors arc intelligent. All
phdesopbers sre men. Therefore,
aome Men are mlellizent.

i@ Bome bockes e real. All boolis aree
pencts, Thecolrove, oo penal oan
vood.

i Hither b 1s happy or rich. ITe 1s vich.
Therefne, hiia not happy.

N Those who are vich cnmmit soieide.
Ie iz not rich. Therefore, he will net
coninut suicide.



-

L e

= == ] =takifst=tr =B aweas T

crow. Therefore, no [os 15 packal,

() Allerow 2 are not jackals, Some crows

1. (b}

2, {d)

5

3. (b

4. (k)

are  mankeya. Therefore, some

mionikeys are nol jackala,

He did nct stumble down. Therefare,

lie did not run fast.

i A= H B> O hut not T}, Therefore,

Ax=D.

EXPLANATORY ANSWERS

Mo concle=iom can be deawn from two
7 premises so dtulemenl ' s woorny,
Statement Q is corvectly hased on walid
syllogism becauze of the word "evory
bottlz” vacd in the siatement provided
we azsume “safe” and “harmleess” sa
SYTIOTLTOHILLE,

‘Al that’ rwinlles arc stars moans
some stars owinkle 3o moon may or
may nol be a star, See the ficre below:

53 B
S |
J..'l

Here the ayllopizm is AOO which is not
valid acoording to figure number ], Bo P
s not frue. '

o the ztalemenl €, lhere dare [uar
lerms (L) all Lhe melads G) wolid fomm
foee ) mercury dmd frop g wid [orm . So oo
corelusion can be driwn.

1* is true cnby paradoxically not
Tnecally. € b= logically true beradsc
vahd syllazism “ATT” 95 here, (Hee
Apure)

ik i |

v &

i F

Hence 11 pramize is majorprémized

P it

P— M

H—07r

“AAMNT 1z ndl g walld swlloegi=m
gecording o $he gbove figurc eo
statemedt P 13 nodlree.

M = P
5 M
g r

ALY ke valid ayllogieom aceording to
thie sbove fimure an atatement G iz orue.

5. (<f)

N

T

. M r
g e M
5 P

Bt is nat tieue bocavse if one of the
premizes 1= oparleular s conclussen
must. be particular. | inferente 13
madle. '’ promise, f.e., 'somic gullvasire
dapules” even ben weowill be wreong
because TAT 12 oot there@mihe Ty
belaw. Sa far as statefient Gh iz con-
ecrned its figure willhoo

| M R
M q A

5 —— ! G

Acvofding (okh® Gizure, Lhe conclusiuz

shoild be “gomc grapes are mangaes". 3o
ihe infexenpe of thiz elatement 1 also not
teiehi. e, the muajor terr cun oot he the

eubrect of the inference.

M
5 — 1
7 —— T
LAT ba rat a valid syllorism heranse 1tis
mit there in Figure Mo, 2. 5o statemaent,
F is not fruc, S0 far oz statecwont B is

concerned ks fiwure will be s ollowa:

it F

5 151
3 g
Thus "AAA s 2 valid svllogiam

avcording to the fizure given above,

: M 2
M —- 8

a3 r

Allls awvalid ewllogiso according to the
Tigure No. 3 ao ctatement P e true.
The fgure for atatemant @ will be



B (a):

8, {d¥

10.{ak:

11, (d¥:

B —_—T
And A34 iw not g valid sylogism ac.
cording to the lgure Mo, 4

“Tha fipure for etatement P owill be
31 F
B M
5 T

Here the conchizsien is hased on EIO
Which tg valul accarding 4o Figiare Ko,
L. S0 P statement is correat, The Ao
[ G atatement will be

M P
vl g
5 ——— P

It myeamns syllorssm 13 OAFE which i
Bot valid secowrding to figure No. 3 But
“zome polite persons arn not rich” is the
sopreet conclusion, Le., QA s a valid
gxllogizm.

sratement I ois wrong because muajor
teem can not be the subiect of the
conclusion. I the staleinenl @ Lhere
ave Tour tevma 1) 5 Newlon, {11 zolve
this problewm. (o) He and /s Newton,
Here 'y Newlon' 1 o common nourd
while Mewbn is 4 proper noun,

& — P
o =
Fat P
AAA
P M
§ —
e——T
Al

P glatement 42 true bocaua: AAN i3 g
valid syPagism but Skatamont G s nol
Lewe  bBredussgdll e not a wvalid
eyllnGeninThe correct axllogism will be
“AN wWaves arc women. Kamla is a
wife, Komla 15 o women,™

[ M

g 13

5 ——F

Ads

T AAA

Both Lhe stalement are falzn hecauas
AA3 jw mor a valid svllogizn secording
to Lipure Me. 3.

b P

Ml 5

5 —T
LAl

] I
wl s
F

12.(2):

4B
Here both the sintemets ared@used un
Tionre Svo, 5, T ia rue Baeause TAT 52w
walid sylogizm bul @ s Gdse TAR i= not
a valid avlloglsm. ln $his statement
the inferanc If.e Feome pendls con
read” i@ ofroct)

13. (a): Staterment P i cinvect hecausc it is a
Clisgutiel e spllopizom Lind statemaent 3
& b aene Doecause o savs that those
wld vrePich commit suicide. It doga
netoaean Lhal only w=ch commit
suicide, There may be peogsie othoer
thun rich who commic swecide. Iis

LCigniere i

I P

5 i
ALM]

Thiz A syllowism ia rar walid
according tn figura No |

1d. (b} Mo conclusion can bhe dvgwn frem two
particular premises so stetemont Fis
falac bud & s lrue becsuse it is hoased
an vahid aylUngism ELO. Is fgure 1s
M P
ML g
5 —— I

16. (akilm a  hypothetical  evllogism if
consequent iz denicd then asLeeedeul
will also be denzed in an affirmative
statemont. 2o slatement Pz trae aad
o 13 ool correct bhecanse relation
ootween A oand 1) is not clear from the
statement, ie, A =>B D=>B =



Direetions: fin eqceh e the

e

l’i'}'pt_‘ VIT1

following

PeSiins (o storemenls qre ginen foltow el b
an nference. Mark fa) if the Luference fu
definelelv true, mark (8) ©f the Drfervnes (g
definilely fulie, marl () if the wifarence is
probably false or true and mark (el if wforenee
cer nal he drcun,

Lot
1}
2. fm
()
g m
i
4 i}
i
5. =)
(B

G. i
(o)

=1

iz
(i

8. ()
{5
9 m

10. i@

{1

11 1)
{5

My son ie not Md eneugh to vole.
My son has handsome personsbiy,
Inference: My senisa bav urdor 18
rears o age,

Those who are hengel are gond
teachars.

Hard working people ave honest
Inference : Hard work is e
NELCERATY quality of a poed teuchor
Al wives are women.

=he ia & woman,

Inference ; She ws g wife,

All menkeya wear 1ings,

Al vinge are blue,

Inforence : Al monekya wear blue
rings.

Cnts lilke rars,

Ratalike bread.

Intercnce : Bread is liked hy curs
Happy = une whn is contendod.
Heligiows people ave contended.
Infarcnce - Ecligious prople 478
happy,

Crlass is 4 briltle,

Thizs substanee iz not brictd,
Inference : This substencadis oM,
elass,

Eitker he is happy ofehe is BT

He is hippy.

Inference : Tlofis pony,

Metals are gonedally Dvnaileabls or
ductile.

X iz neithemmelleable nor duztil:,
Inferdfige "X is Nt 4 metal.

Tz fig i0%he sloy,

Nightimgale tly in the ek
Inference : Nightingale iz s bisd,
asmero higher, we feel cold.

Aswe o higker, thore is 2 derresn it
Altmoepheric pressure,

12,

13.

14,

16,

17.

]-BI‘

18,

22,

{ex}
(B

()
i

()
(G

ia}

(h)

)

(dr)

. e

(&)

. 7

(&

FTH
£

Infrrenee @ Wo [es? ol cn Lac
dervease af sumospheric Presslr.
Miceeat cherse,

Cheese s used in nmelotte,
Inference : Mice can eat omelatts,
Fis hehingd A and N

Q) is behind P.

Inlerence : € is hehind M,

A< O bat not I

B<(.

AT R

Inference : 1t = D.

L i= the brother of &

E 15 ke friend of &

loference : L iz ghe frion@Gf M,

1 Mammals cavse their VOUNE e En

drinle milk.

Rakbil camses their
drinle milk.
Infereneé : Rahbit is a mammal,
Tofive narly®n ihe DT 15 e ful
frrhealty,

Geetalrifes early in the mMariing.
Infegence : Geet: should be healthy,
This is Lhe bus'tor raute Mo, 10,
Birses of roste No., 10 generaliy go g
Connaught Pulace,

Inference : This husg goeas to the
Comnaught 1Plgee.

Theve should be no move than thres
chiddren to any sensible popaan,
Haheem haz three children.
Inference : Rabeem je certyinly
sensihle person.

I new a grofossor of 8 university,
He has beard.

Inference : All the profossors of the
unmiversity have hoard,

Some intelligent people aze huppy,
Some intellizent penple ave rich .
Infrrence : Same who are 1ich
happy.

No student likos [oothall
Fuothall is not a goad gamn.
Inference : Na student hkes
Eaine.

YOuTg unes Lo

e

poac!



23, ) Hnresty iz ealuablz fior businessmen.
iRy Sonne busincesmen arve ot honoest.

1. {(‘-:F:

AN P

3. (e)

4, )

A, (b

6. {ch

B. {b)
()

Inference ; Some bhusinessmen are
Tl wialnable.

24.

i Twno aznd Lwe wmakes four,

b Four iz a nwnerical figure.

Inference : Two aod twn t2 g single
uurierical fipane,

EXPLANATORY ANSWERS

The voting 2ge has not beel prven hare.
Ln we can oot definitely wwy ahant the
azz of [he ohild. We can ondy asseea the
oy on he basiz of the voung age
common in 1ndie and hays of Lk age
generalli have hand some presemality.

All havel working people are homest sl
Lanest ave good teschers. So hard wowl
15 the ruality nfa eood teacher bog it is
nol Lhe only qualiy that le srust have,
‘I'heve are other qualities reeded v hitn

tn b a goud teacher, [t is probably nat

truc hecause the ariteria of mecessary
qualitics huive not been given here.
P il
& :I LI
5§ — F

ATT .
ATI is pat a valid syllopiem,
Ste may cr may not be o owile,
The inference is more close Lo grelahlby
e,
Thiz is not a valud syllopism accending
Lo feure Mo, 4 where A3 amulthere.
Hu iL ks prooably helbecise all Lhe
rings are blae which®manlkers waar,
Mureover 1he maorternmcannol be the
subject of tH@conclusion.
There aréloueicries in the statemeaenl
s concluaeingdrawn on the beesis of
1 b bk e dedinctely balse.
Tlic inference 15 cot definitely troe
Tecaiesof the fallacy of divisicn.

B M
a1y
H F

Valid svllogizm of AQO [ollows here.
Gn the infetence is definitely trua.
1T correct Infzrence is "he is not poor”.
The waord “prenerslly” used in the

Lo (ke

11. {o):

shatement  (a) mukes the  migicnee
probably trne nr probably falsey 1t
means thil there 1 at [casplmelncral
which iz nehet malleable b dustite.
r ptil '
g — 13
g —— F

ATl .
AT as owt o wghd syllosdem becaae i#is
nct there infglre Bo, 2, Even thenat
15 not defimielabdés becn nar aeann that
My in the slevare bivds and nizhtingals
raage be fromiamong them,
The mi-or erm cannet be the subject ol
thd conclhsion eo L s rar troe. There
arepthor reasens alzo that causes cold
g1l atmospheric pressere 15 one of
(e, Ba the inferenoe msy be prohably
true or probably false.

120(h): The major term can ok be the subjoct
of tho conel asien.

1% (a: QP M N

14 fapT=A<C i13
E=C 12;
D=A<B<s0 03
A=1 i3
v =0 i)

La. {c): There are four lefms.

16. (e P K
& Il

5 ———— F
All

A1l i not a valid a¥1legam aceording 1o
[zire N 2 aninfovones is falsn. Sinee
“mammels caase Lheir young ones to
drinlt milk”. lidces nol nmean that ondy
mamraa s do Lhatl There may be olliers
thal cavse themr young ones wo drink
milk. 1I{ rabbit belongs to the later
calagory the inderencs is false bul 1ifhe
belonps tn the catayory of mammal who
feed Lhewr voung cnes the inference will



e Lewres, Ton Lbus way we say Wil che
inferenoe s praohabiy true ar prohakly
falac.

17. () There may he othoe waya nf heing

hoalthy Dbezides rising earty in the
Tinrning, B boevaase of She Tadlaey of
campnaition the inference iz probahly
truc or probably false,

18, (o) ‘The ward 'generally’ ctarifics that the

inferonee 3= not definitely rue.

19. (c): The inforence "Tahesn is g sensibls

person’ is probably true because of the
{allacy of division but the word
vertainhy’ makea it move near to falac.
So the wnference 1z probably Talss or
protr bl tee.

Directiona: One sioieinend (s given in eaoil

of the follmwing questions follmoed by o
asaemptions. Mork (o) of qesumplion I s
e plice!, auarf (B fassempiime I50s Dolioit,
mark o) if both Fond IFareimplicit and mark
folh if meitier of theny fs Dnplicit,

1.

(=]

Co by acroplans firon Delhi to Chennat to
rainch guicldy.

Assumption I: Delh and Chennai are
connecled by an services.

Assumption 1I: Thero is ne othsr means
cf gaing from Dalhi to Chennai.
Himalaya drugz improve hnomoplcbin
Lkeeping the complexion Taor and glaving
Assumption I: People like [an and
glaring complexgaom.

Assumption II: Complexion hecomes
dull and dark owing o the daliciegiey of
husenoelobin,

Opening a sparts centrn in Alzarlmget nn
e,

Axsumption I Funhabilanis, of Aligarh
have ne fpterest in wames.
Assumption Wi Sports have [oft its
ciredabalily togdas

. You don'd prebioteon Lop overmphi,

Assumptionr JoPeople devirs to he on Lop.
Assumption Ul Suztained offores are
necesaEy to e on top,

Although the city was wder knee deep of
walemlir o week o Lthis monsoon, there
was no outhreal of cholera,

20, (L)1 Enow only one professor who haas

beavd amnd other profezsors ave not
Lknown e me. B0 che conclusion miat
hie falec. A the mteronoe that “zomc
profesacts of the undveraty hove board”
i prrubesbily Lalse cr probally Leue.

21. {(b):MNu conclusion can be drawn oo b

particulsr protizes (Huls Mo, 7.

22, (d): Do conclusimn can be drawn from two

nepdlive premizes {Rule Ma, 3,

23, (d): There are more than chyee terma in the

Lwo promigses, Bo ne conclusion can he
drawn.

24, (d}: Aagor torm 13 not distriboted at o8 So

10.

CORCISINT can nan bo drawn, 0 ey
of the middle tern ).

Azsumption I Cholera soread usually
L0 IMOSann,

Assumplion IT: Maler copcenteation at,
a place leads logholara,

Tawi i= Lo doedbizent w [aill in the
axaminatian,

Assummiien 1 ¥ory intelligont hoys do
pol [adlim {hegeadiminalions,
Azsurpption II: Thuse who are oot
ifitclligernt at 21l may fail in the
eEamindmions.

Thepresent ednecaron systan needs ovey-
Bavlnp

Assumption [: The presenl edbestion
svatom has hecome nheolets,
Assumption 1l: Changes resels in im-
prowement.

T, X—The neighhour's enwvy,
owners pride—a TV adveriizament,
Assumption I People are envieus of
their neighbour's supoerior possession.
Assumption 15 One can toase nne's
neighbour by pwrchasing o TV,

FTou lwve Lo abudy hard Tsr qualifying
JEL '
Apgmmption It Qualblying JII° =
dessiraznlhie,

Assumption Tl Hard work leads Lo
STICEESE.

[noawaorld. ioa rush, Book Theest beeomoes
indispensalle,

The



11.

12.

13,

14,

16.

17.

15.

Assumplion §: Book Dizest should oot be
uged when there 38 no rush.
Asgumption I Dook digest 1@ ooseld
oy in normal fime,

Crop conditian comtinues w he critical
belores raing,

Azeumptinm 1: [t iz expected to improve
after vain.

Assumption II: Unlezs it rainz no
change 1n crop concalion is likely Lo be,
You know that vour suitis excsllent when
people azk you about your tailer whe
Aewrad LT,

Assumption I: People do not ask akout
vour tailor if pour suit is not good.,
Assumption TT: Your tailor has made
excellent suit for you.

Successlul wan has Lhe abihity to judge
himsef corvectly,

Arsumptian T: Succcasful man can naot
muke g wrong judgemient.

Assumption IT: To judoe cthers is of no
uar for successful man.

Delink degrons with job. Then hove will
thenk twice before juining eollegea.
Ansumplion It Boys join colleges dor
goetting jola,

Assumption Ll: Degree is of ao usaior
getting jobsa,

[f vma have any problem, bring dherggn
me.

Assumption I: I am uble to solveany of
wour problema,

Assumption 1 Aouddont have any
prollenm.

Conault mee before taking any decizsion on
mvestanent,

Assurmpgion'k; Yow may take a wrong
desisin Hymadun't consult me.
Assgmpiinn TT: T o impordunt to take
right'decision en investment.,
Bwepubiody Mles reading “Alf Loia™,
Assumption [ Al Laila iz the only
mpartant weading materal,
Assumption Il: Alf Taila iz
mleresting ey,

Holy scriplures ave worlth reading.
Hewever we don'l read thern,
Assumption I: People don’t understand:
them thati= why they are not reading il

an

19.

20.

22

Assumption IT: People are themaelves
guilty for their actionz,

Waening : Clgaretie smoking 1s ijurions
to health.

Assumpiion I Nop-smoking promotes
hiealth.

Assumption I This warning g8 oot
necezsary at all.

This bocle i= an propared that ewen a
layman can study scicnees Wy thedahaeses
of teachers.

Agsumplion It Laym@rhw itz 40 =tudv
seience wilbwul beacter, o
Assumption II: Thig haak i =
substitutn for a teacher,

| et the govefment ifreuce the prosent
rale of tucabonds rétovor the deficit nthe
budyer,

Assumptiond]: Prezenl rale of laxes is
VLI 109

Aszutkiption IT: I povernment winis wo
gk away with the budgetary rdefinin it
shodd Increasze Lax rate.

Fvery mature citizen of Tndia gxeorciacs
adult franchise. :

Assumption L: Children are entitled to
cast theiy votes.

Assumption IT: Adult snficrape is
relat=d to thase wha are grawn ugp,
Evcrybody loves ‘Popular Magazine,
Assumption It DPeople love au elher
mApEzne,

Assumption I1: it iz Imcumbent on
evervone Lo love 1this magazine.

OF ull <he newspopers published in India
The Huwla' has the larsesl number of
readers,

Assumption I: The volume of renderzhip
ul ull pewsepaperz in India iz known,
Assumption 11: Mo newspaper in Tndia
olher than “Thr Hindw haz a large
roadership.

gonl

. The new cducation policy cnvisages najor

modification in the educatinnal eysiem.
Adesumption T: The prezent educalion
sxystont nocds Improvem ent. :
Assumplion II: The present education
syelem s moosstont with the natwonal
neods,



96. (thuats haunt desert places only,
Assumption I: They do not want the
interforence of human being.
Assumption TT: Fvery deserted rosidence
is haunled,

27 Smme palieols dic because of zheer
negligoney.

Assumplion It Negligenee kills the
natienl.

Agsumption [l

They are neglected by

deotors or by their family.

25, Computer cdoeaticn should start al
achonlz,
Assumptivn I; Leaming compurer is eaay.
Assumption TL: Computer education
foihes juba coat'y.

29. An Indian beautician iz opening A beauty
purlowy in New Yok,
Assumption L: New York lacks beauty
parloura,

Assumption i

1. (a):

2. (e

Z. (a):

4. ()

Therz: are beltor

husiness prospects in Mew Tark.

20, Indian scicmtisty working abroad an nel
come hack and serve thetr mothovland.
Acsumption ©I: Ludia facks such highly
suphistieated labs, matroments und ather
amenities a4 thoy have there
Assumplion IT: Tndix can not afford o

payv them as much as they =&

31 °

t thore

“Children whe wet chonurapeaenn wsually

perform bester” . A note by tae principal =o
Lhe parcnts.

Assumplion I; Sume parcids do nol 2n-
courage childron.

Assumption II:

Farcnts mag@felions

principal's advics.

52 Some bUsinessmeT: are suppessd theve 8
Midas Toach.
Asswmption |: Tivery Lusipess, they puot
their hueuls into gived o rcellEnsTeLary.

Assumptiop  1I:

AMides

wac A

businesuman.

EXPLANATORY ANSWERS

Cne is suggested 1o go to Chennai from
Telhi by acroplane. I+ means both the
citice nre conns oted by alr acrvices. Bul
the word ‘guickly used in the
statement clarifiea that there ave ather
means of transpeartation alan, So only
wagumption T 13 Implicit.

{omyplexion iz directly related (o
bacmoglobin, Thnze who do notdaye
fuir and glaring ccmplexich, feel
concern over the prabiemgand wars
Himalaya drugs in ordef tu dmprove
haemoglobin and hgnee fmaintaie
tomplexion.

Here oaly assemptitnebeis implicit
because pecpl™af Alijgarh have no
internst in pamcsdo sports covtre is of
oo use here. Afsumptinn 11 does nol
relats with the atatoment at all ac thiz
iz mol, implicits

Asumption) ] is not 1mptict becausc
atmierient  ia ‘1" premise  wlule
agsumiption iz A premisc  bul

asaumprion [I 1s 1mplieit becavse no
one cap gel wn tap overmight. IF he
wanls to be on top he should do

5. (P B

f. {¢l:

7. (a):

B {a):

9. ich

crataincd @l iE.

Althcugh thern was wale ngging, yol
thire wus not outhreak of chelera, Tt
mbes nEsfater lopping leada to chobera.
Aribwator logwing is uswally secn in
munsoon Fo cholera and monsson are
alzo relatad.

Too intelligent meana vory inlall gent
an azsumption | 1 waplicit. On the
ather hand if arme cne s very wuch
sntelligent he rarely fadls and that wh
is ral inteligenl at all oy Lal, Sno
agsumplion 11 is alzo imypdicit.

Ii o thing 1s owsdated it should be over-
hauled. B0 assumption [is implicit. Bul
changes does not neesssaly resltin
improvement cven 1f )t s cutdated.
Assumption T is miphicit becauwse if
gomeone owns a TV, X his neighbor
ma¥y be envious of him berause of this.
TuL assumption [T is net imphedt
hepeause cavying and toaeng do ned
mean the aume thing.

If vou want to gualifi I you sl have
to study hard. It iz hard work chat
leade to auccose. Aesumpiion s a0an



i 1= B B Sl
juneture, The person ia necding it and
he is being suggested.

I0. (d): Bock Dheest beceme necessary only
when wa are in ruah and want to save
time. 8o both aswomptions are oot
implieit

‘11, () Crop s Jdependend an rains. Whatevor
problem the crop faces ceases to be aficr
raina. Thus any improvement in crop
condilion & firectly related 1o ramns. I7
it doea not rein its condition will
continue o be eritical. Thus both the
naaaumpticna are tmplicit.

12. {e): If people ask yeu about your tailer it
means your suit iz cxcellent and your
tailoy ia an exeellent Lailor. So both the
AESUmptine dre implicil.

I3, (d): Bucceasful man judge himself corveerly
but it does not mean thet he will never
hawe wyang padpement. Azzumphion [I

1a alao not imiplicit hecause if he judpes

others he miay or may not be a
sucecesstul man.

14 (a): If degree is not given importanee for
job. then no vne would care for collegn
edweation. Thus bovs go to callege
cducation for jobs and importance of
degree o seeoadary 1o jub. Thus onby
sasumption | s implicit,

15, {a): Tf comeone ie able to solve o priblom
only then he will say Like that fut
agawmption II is aot implict bt alll

b6, (oF: You are not competent cnough toesake
any rigkt decision on wtestment which
is vory important Thitz both the
assumptions are lmplieat /A person
consulis othrre@nly when he need 1t or
he i it able to take agtprht decision on
important 138088,

17. (b): Azsumplion Lis not implicit because
‘only istol thoeo in the statemant but
aasimplisn I is implicil because
resding Wmaterial is liked by all enly
whow it iz mleresting or significant
from any point ol view.

18. {b)Qnly conclusion 1T i3 implicit.

T9(d): Both of the assemptions are not
implirit because tkRose whn are not

doubt, 1l efMecl on health bl nen-
anolting doca nat neceaaarily promaotn
health, becauze of thiz Teasen warning
1E DeCe SRy .

2ik (h): This book 15 good bocause no teacher ia
necded ta teack it. Thus assamption ||
iz implicit but assomption [ i not
implhicit becavzse 11 15 we whe want g
aequainl  the lavman  with €he
knowledpe and its convoren 15 pamptee
decurding Lo Lhe slalemenl.

AL (b There arg many  reasonag \bebhing
hudgetary deficita. Thught the rate’of
tax i low oven then it aan nothe saidk
that deficit I8 the prodishofdow tax
rate. [n thizs whggdfivst assomption iz
not implicit bat I one I8 implicit as
taves are & pooddsouive of finance to
cover thodeficit

22, (b): Adull sufleraveds related to youths s0
childwen ape oot cntitled to it. But
gagnmption Ll iz Imphicit hocaus
growf up mcans those adulls who are
ETOW T,

2340d}y: Populay Magazine, iz tho name of a
magazineg, If overyome lovea it, it dees
not meun that he doos not love other
magazines. Thus hoth assumplion [
ard IT are not implicat.

24! (g): Assumption T ie implicit because
unloas we know  the walume of
readership of alf aewspapera we can
nol conelude abowl the popularily of 1
rarticular rewspaper, ITere the study
iscomparative in paldre a0 we can nob
gay on the basis of onlyr this meagre
infurmatiom that othor nowspapors hag
less  number of  readers. Thus
assumption 1T is nat implicit.

6. {e): Major modification in a srstom 1= done
only whon it has become sutdaled and
improvoment can be made by
modificarion. Thue both assumption |
and T are implicis,

26, {a); Descrn place means the place wwhere a3n
ene lives, So only wasumption [ s
implicit but the word ‘every” waed in
the zecond assumption makes it aon-



mplict.

27 (b The aszsumptien | iz net bnplicit
because statomeat is T premisc while
agsuim ptlor is A premisea.

253, (a): Assumption T is tnplicit becsuse had
compuler educaiion not been easy it
woald not have been suppested for
schonl boya, but i3 not necesearily
tie that we can got job easily after

com puter edacation,

29, {h:1tis impliot becauss omiy thew soneone
will o for hasiness Lhere,

30. {u) Both are the genuine reasons that is
why they do not comae back beve,

31 (o)

32, (a): Asswnptim T s irredevans becruse s
preveerh hias hoen uszed in the statemen.
wlnich hias cloge meaminyg B sl 1,

Directione: Two stedements followed by a
concipsion are given in each questian thel
fotlows. Mark (o) if orly first statoment
swpparts e conclusion, Mark {B) if only
second stofement supports the conelusion,
Mark {c) if both the statemenis bogether
spppart the cniclesion and Mark (d) if neither
of them supports M coneliesion.

1. i) All vivers are mountains.

fre) Al mivers are stones,

Conclusion @ Bome mourfains are
slones, '
2, (i} All mangoos are bananas.

{td Snme bananas arve sweeta
Concluszion ; Home eweet: are
TS,

2. (b Deficit finanmng e2 reaponsible for rise
11 prices,

(i Deficit fingneing iz essential for devel-
UpEnCaL,

Conchusion @ Riz¢c in prices _is
gaaential for develapment.
4. ) HBote vegetables are fruits.

(i) Fruits are good for health,
Cunclusion : Some wegttahleguare
good for health.

5. 0 Allclements are dugtile.

fiiy Allclements are fragile.
Conclusion Nopelement 12 non-
ductile,

8. (i) Alldalls ave beautiful.

i) All dell=@re [ine aourec of recreation.

Canglusion : There s no dall which

iz not bemutifnl.
7. (i} &Mgeading material ia uscful.
(I} Soume reading material i=
lengwledyeable,

Conclusion : Sume reading mater-
in do not give konowledge.

8. (1) There is dampaess o che climate of
Congo lorests,

;) Too much dampness in the cliziie s
lhiarmeMl  to  the heaith @of 16s
inhabitanis.

Conclusion : Duampnudes e
farcat 12 harmful ta the beal ol of s
inbhahitants.
0. i} The water levelofthe Gopr s riving,
fit} Some peaple live oger the Gromr.
Conclusion @ Thert™s o danger to
those Brafg near the ot ke Tnae lifi
and peoperts
10. 0 Dawdity Nehro aras Loea m LR
ey Matlana Saad was bornoae UL
Conclusion : Al freedom fighiers
v JEEN in 1LY
Carbabwvdrales are helpfa foe Lthe Sor-
malion of the body.

fif) Orowing childres need guod mainrition.
Conclusion @ Carbohydratos are
recded B orowing children

127 (i} Wurriovs generakbly do nnt marry.

(i} He is a warrior.

Conclusion : He showld be Barhelar
15. ) Bors sake wilerest in musiwe and
ATy

fi) Radha has no inlcrest in muswe and
dameing.

{lonclusion : Hodha = not a hoy.
14. i Many TTindus o to Labhwee for pil-
grimagr.

(i) Blany Muslims eome to India for Tes.
Conrlusion : THere is a wmutual
sgreement belween Hindus and
Muslitna.

15, ) Moatof the murderera leavs sry prant.
fit Mr, Gupta was killed by some one.
Conclusion @ His murdersr will be
arrested acan.

11. )



L. {dx

a

Ad)k:

3. (d}:

4. (d):

5. {a):
7. {h):

il
ML &
88— D

The correct conclusion will be Yaome
stones are mountains,”

r M
M &
[ r

“AIY bv not a valid g¥llogism here.
Baoth the statement do not support tha
cornelusion.

r IvI

Ml 5

& I

Caonrluasion is not Ingically  true,
because major term ‘aome vepetables'
can not be the subject of the conclusinn.
135 the obwerted form of the statement (T

: Ttiathe obverted form of the statement {24

Ti.is the cbvored form of the stalement
1.

L Cn the basiz ol the diagram shown which
statemeont do you consider eorrect?

fie)

{)
{c)

i) AT ol [hesme

Hauaye  love@tors l': E
Ruevlrngle — 1licrmatas

Circle — Backoweod .
Traianglee TFanuera

2 In

Some farmers who are Inveralore
thoy arve cither backward or Olig@vatcs
or both,

Some nom investor Tafmers ape
backward and Niterates:

Those  backwards owho Lare noel
ilitcrates arc gither i’_armers at

invealars or Lo, ;

-1

agroupat fve peraon A, 3. C, Dand I

g plays Tennis, one plays Chess and one
Hrckas oA amd I are unmartied women
and play no game. There is a couple
among them where E is hushand of O, Na
women plays either Chess ar Hoclkey, B s

the brother of C and he oeither plays |

8.4d¥y The ward “too much” wicd in the

slatement (i) makes the coachizion
WTHOTE.

9. {ak Second slalen-ent is not needead at all to

draw thas conclugion.

10. (d): Doe to fallary nf composition Lie con-

clusion is wromng, We can ool generali
a thing o the basis of just o fw
incidents.

11. {a) Growing cliildren pazses threugh the

stags of the fhrmation ol theé body Bo
stalement 1] ia not necded tedraw the
conclhasion,

12, (d): The ward “generally’ wsed ngthe Orat

slatement males the cohcluzinn falan,

13. {c}: P Y|
s — 1

85 — B
YValid syflogisintodd 00 1 hers,

14, {c): ‘0o and come clarifies that there 5

mural Agrecment.

15, (d): [ mapebe peobalily tros.

Uenanmis oor Chess. Who plavs Hoekey
here?

fad A i D

ch C (d) E

. Paints out the letter which reprosents

Lndians and historians but nol polilicises
on the basiz of these three circles?

far b fhl f
e boand £ fdf) band g
Lovilian

/?\/7

iatonacy Pohtirians

. On the basiz of the fivure in gqueztion 3

which of the following slatements s not

oorrect?

fa) 1'ne area that repressnts the Indiun
historian who is a politician alao 1a 4

L) fund e areas denet represent Indians,



=1

fr) carea represents [ndian politician bat
nol historian,

fd) ¢ 15 not an oArea
politicrans,

A, Band Careintelligent, A, Tand Eare

Iaborious and O, C and E ave honest and

A B, and E are ambitioua. Which of the

following ave not honeat?

i) Aoand B fhy Cand A

o o Aand D (el C, Aol B

i the basis of the infvrmalion given in

question Mu. 5 who ia neither Taborious

nor homest?

fal Aandl

fey Fonly

renresenting

i) ooy
el Coonly

. Anila and Geeta arc experis in danciogs

and muste, Seata evd Goeta are expertin
musie and painsing. Anits and MNeata ave
pxpert tin dehate and dancing. Neeta and
Septa are expertin Painting and debare,
Which zirl is not cxpert in painticy.

) Aoitaonly () Bectaonly

e Anita and Gectadd) Neelaonly

On the hagis of question Mo, 7 which givl
is rxportin all [elds

) Anita ib) Seota
) Cheela {cl) MNone of these

Directions: Questions from 9 to 12 are

baved on the folloning figures. Which of the

fallwentg  figurss

represcnls the hest

relatinnsiip minang the iiree tarms nged vt the
question.

1G.

1L

()

fc) ©O

Players, studentsrimdigirls

o
£

A (&) B

ey C {e’ D
Player, Uncle and Aunt

fa) A o} B

fc) 1 i} T
Trdia, Caleuila and Islamabad
frad A fh) B

reh € fot) 1

Teacher, Principl, Son

[ {E
i C frd) T
Square = Clerk ;! \\ t'ﬂ\
Triangle = Bacheloy B LT AN
Rectansle = Plaver rd |
Circle = Male (A
k&i)@

Directions: (ussiion

frant 1F o I6 is

ased nin the choue fignre. Forlons fetters
vepreseil Utrtons LWDEE OF DETSaTLE,

13.

14.

15.

16,

1%,

18

15,

The bachelor derk who is a male plaver 1s
represented by the lotier,

fzt O and I i) 3 only

e} II only fd) 1 omla

Persons who are ncither badhelorger Maie
rut player and clerk ars sopresented by

fa} Band N (R nngyd

fe) Band I e Loapd H

Which of the follow ng crgup of letters
have at least one property common™

i ALY By ALNN

fob ATHIE (i) FWTAC

The mdle"clevk,who 1= a player bul not
bacheloria

{ainE M H

v 4 ey 1

A48, O, B and F were playing cards,
A'afather, mother and uncle were in the
sroup. There were two [emales also: Bwuas
the wmiother of A who acored bigher than
her huzhand. P sonred hipher ehan 15 but
Tews {hian . E's nephew scored mimmum.
A's father scored more than F kut cven
then he could not win, Who win the pame?

fwh E (&) B

) C #) F

Fram the informealions given in @uestion
17 whn iz the father of &

) C my D

iy T i) None of thesn

Franches of five natinnlized hanks & B, G,
INand E in MP are as follows: &, B, and
Coare in Indore and Bhopal, &, Band T e
i Indore and Gwalior. B, T, and IV are in
Raipur and Bhopal, A, 10 and [ are in
Gwalior and Jabalpur, {, I and L} are in
Raipur and Jabalpur which bank has
branches in all eities except Baipur,



20,

2l

22

Z3.

e

fu) A el B

From the dats given in questicn Mo, 19,
whith hank has beanches in minimuam
number of citaes?

g A (i B

fe) O i) Moo of these
Thore ave five playera AL B, U, D and E
a group. One of them plays Foathall, one
playz Tenmia and one plays Chess, A snd
D arc maids and play no game, No wowen
plaws eilher Chess or footlmall. There 1s a
married couple in the growp where B s
husband, (Vs liother is B whao is neither
Uhees player nor Temwes plager - Whe

plays Cheau?
iz} E () I
) C ) ¥

From the data given i questien Ko, 21
who iz Teanws plaver?
fa) K (D
ey C {Hy ¥
Lisd of the females from the information
given in question 21,
) Aend Dand C
(&) Band 2
e} Bend Cand 1D
e} Mone of these
Divections Qs 24-28): Questions hmee
based on the fullowing fonres. Stiedy 1fé

figures ond relote them fo the tefnsiand
COACERTS FRUEIL LR UeSIT0 s,

20

ollard et S3ofa, Furnituare

(Nt (b} B
fc) ¢ ] I
Cyoondile. Dagle, Lion

fa) A& by B
fri T fefy L

26, Uountry, Slale, Chiegt Mmistor

2T

29,

30,

g1

feh O frit 13

Troacher. Writer, Philosophar
o} A i B
el O fil) Ti
Father, Son, Daugher

SN ) B
ey © fif} 1)

Which of the tollowing Gzures correshly
cxnreszes  the  relationship  begwecn
language, Oriva and Trdu.

> W

foed A i) B

fe) O frf) T

Which wf the above Lgores correectly
pxpreazes the relationship hetween lree,
bee andthousehird.

Study the fipure wnd anawer the
guestion.

Triangle = Hducated pEDpl:ff,r- -

Sguare = Policemen

Civele = Road Tax payer

Eclipse = Shopkeeper .
Which of the follbowing conclingions ia nat

corrert on tho basis of the igure ghven abuve?

32,

fid Al voad tax puying policemen are cdu-
cated

) Some educated people are noo
prlicemen but pays road tax

fe) Nong of the educated shopkespor iz a
policeman nor an educaled pohceman
s a shoplieaper

i) Al educated policemen pay road tax

On the basis nf the [pure wiven m

quesiion Mo, 31 we can say Lhat

iz} policemen dan't pay road tax

b} ghopkeepers do not pay road lax

fe} some ahopkeepers are cducied

te) zome polivernen ave shopkecpers



DHrections: Guestions from 33 o 35 are

berseed o the following figures. Which figure

g

33,

6.

37.

48,

34,

esenls the exoot relationship wollt fhe

vowreobles gioen In guesifons,

OO @
OO

Man, Teacher, Tailor mastor
fir) A (i B
fel C () L
Avamal, Dog, Cat
ful A thy B
fel O ff) D

. hIale. Horze, Man
f) A fay 13
fc) C (i} D

A croup of 30 studerts play ericket and
football. 20 playa cricket and 13 plays
foothall, Each student plays at leas. one
vame. How many of thom pleys both?
fod o (10

() O fd} 15

There awe aix booka &, B, €, D, B andd,
B, C. and E have Bluc covers while the rest
have yed covers. 1) and T are new hodks
whilo the rest are 0ld booka, A, Sand 12

are law reporle wlile thogrest are of

physies, Which ia the red coferedne w Taw

report book?
fol A - iy \B
fel C D

Which twa are oadPhgsics books and bave
bine cover fromt thefduiamiven In . 377
fi) Band ¥ i B and E
i) B and\C ff) B and T’

wWhich, 15 Blue gevercd, nld and & iaw
report ek from the data given in @ 377
TS b B
AN ) ¥

o agroup of five personz A B C, Thand

F one iz a farmer, one 12 8 physicst, e
18a journa-liat, dne ia an industrializr and
one ia a doetor. A, C + doctor profer tea to

41.

42,

44,

45.

coffes and two of them B + Journaliat
prefar coffes to tea, Industrialist + D + 4
are friends but two of those prefer tea to

oflice. The fariner is 17 benthor, Wine 2 a
farmer.

i} A ity T

jcr © iy D

From the informaticn siven in Q. A0 whe
is a physiciel?

(i) A i B

oy C AR

Who s a journalist aceording to thedinfer-
mation given in & 407

() A YA

fug © f) D

Players, father and ‘w@fher Gan be

reprozented by

@ ! @
(i} @ ) @ 0O

Ttarap Mahcosh  and  Mohan  play
hadminton, Mahesh, Ramesh and Pramod
flew t¥nnee, Mahash, Hamesh and Ram

plag ches:, who plays chess and
Fadminton but ot tennis?

fir) R ft) Mahesh

fr) Pramod {l Hamesh

From the information given inn 4. 141 who
plays all the pames?

fo) Pramod it Mahesh

fr) Haru (e} Tlamwsh

Snake, reptile and rat can he represerted

s OOOCID
O @O

. Calile, goat and sheep can be reprasented

(aiooo



(h @) {h) u \_/
(e} @ {U} N
o DO » Q)

48, Air.water and sand can be represented by | Bl Five tricnds Lalit, Feroz, Shahid, Johu
' and Marject are prinler, singerfdancer,

(i) puel, ar soulpture. Balit and Feraz ave Aol
4 senlpture or dancer, Johngand Bliajeet

are not poet or parvier. Shahid iz neithar

) painter nor dancrr. Mawjzel j8 rot a
/ daseer. Feror and Shahid aréfot poet or

singer. Who is pest®

W ' fend Manicat o) o Lahl
g m iod Bhehid () Foroz
52 Ateam of four from ATH, O ML B F and (3
O iz to be scleeted agrding o the following
@) condigiomns:
49, Human, women, and educated. can be g:ﬁii :-T:ﬁzzgzttﬁgig;:her
represcnted by Aand G muzt be together
. . Foangd T muzs be togethor
@ O Q O Coand G will not be tegether
_ Cand & must be logether
The team will have
() © O (a) ADFG (b} ABCE
fr) BUAG i} MWnne of these

B3. A group of 25 students play Hockey,

! Focthall and Crickel. 5 plays all the three

games, 12 plays hockey and football only,

13 playa foothall and erickel only, How

many of them do not play a0y gamo
) @ @ 5 & T

- . _ ) & fd) 11

§0. Shirt, garmgat and cloths, can be shown | sg (n the busis of vhe data given in €. 59

how many studenta de not play foeihall

by
@ O O O & 10 o 1

EXPLANATORY ANSWERS

(cr

Tgdck Thase  lackwards who are naot are uamarried women and pluy ne
“Wallitzratea are out of the reclangle thas game. Mo women play shesa or hockey.
part belongs to sriangle and aguare Ciz only woman excluding A and 13, Ha

both, she must he palying Teaniz — B

2. (b} Gul ol five threo are plavers. Aand D neither plays tonnis nor chees, [t



means he must be plaging hockey, The
caly plaver atter B male and € fernis)
& B =0 his game is chess. [ris clear
[rom the fnllow ing Table.

{ T ¢ I Un A M W
A w ® “ o " w x
B - = W '

i ¥ * =

¥ ¥ B - v = - ::f:
B v v

. b letlerisin the top cirele aa woll asin
the lels hand civele but right hand
cirele is away from this leller,

Aren [ is a parLuf the vighe hand elrele
&0 the slatement is wrong.

s a right mirk on the qualilies that
a purticalar member possesses s 19
done in tho tzble heve.

Insellipent Faborions Haonesi Ambittoes

' o ¥
' ¥
v W

il 4

oy v v

4, {dj:

Lfak

== 3

. () B neither luborious nor lienest.

() Bec the following table.

Tonting  Wuse  Debate Danee
Anita < + o
Seela ¥ v ¥
ot et v | ¥ " ¥
Gerta o v b

. dx:

L (b)Y Somo players may e students yfacd mela
and seme gile sy be|plaversand
gudente. So fipure Dismest suitable.

10. {d): Scme players mayheuncles and senic
may be zunts. Similathy, scme uneles
mav he plavers amd some auats meay be
players. Bur ueclesitay not be aunts
ang punls may ot be unelos. So figure
1 s moghsattable.

11. (e): Calgsstopiz ety ol lndia which is
represimisd by atng circle with 4 amall
parcle in it and lzlamabad is not the
parhal India,

§ 80 {a Leaclior ruwy Lo the priocipal of the

cellege amd may have a aom.

R e e N

=

15, (h):The letter 17 inside the clrele, =quare,
triangle and rectangle,

14 () These twa letlers are inside Lhe square
and the rectangle bot outswie the circle
ana trangle.

L5. {ek: A ia neither clerk, uoer bachelns nor
male hud only a player. D is hachelor
but he iz neither male clorz nor a
plaver. Same i the case with | amd K.
Thus they all belong Lo four dillerent
fiz1ds

16, (h): It.is outgide lhe trizngle but maide the
irele, snuare and rectangle.

17. {h): B iz Lbe mother of & = her Eushandil)

F=l0=E Ly
bs pephow was A whe acerad
Wit 5
B’z hushand = F {4
Re hmshband iz A, B40 Dy Ld—
B I ILE A=L (3}
E>C=F=10>H =& 1]

18, (a1 B's hushand i 0 and Ads the sonof B
go O iz the dather of &

19. (ck Ber the table@iven below:

Hanit fdore [ Bhopal (roafior Raipur Jabalpur

‘ﬁ._ ¥ ' ¥ v
B s 7 s v

C ¥ ¥ o s
I+ v v vy o
i ¥ + v ¥
1. {d): :

21. (a): A and D (waids) play ne game.

23 (e AR C Dand E- A& =DBUkKare
ployers _

23. (a): F is the hushand of Bor C
T 12 the hrotner of
E ia the husband vf
B neither playa chese nor tenms
B playe foothall {13
M woman plays chess or foothall.
' doas not play chess or foothall
 playe teniis 2
[ plaxy Clhess Ey]

24. {d): Both Sofa and hard bed cona under the
catagoy of furniture,

u%. {e): Crocodile Lives in weter, lion on land
and suple in the air. So sl 6f them are
totally different.



afe Uil Dy 100 chlel MInessrs.

&7. {a): There ave somo teachers who gre
wiitcra and philvaophers. There are
wrilers  wha  are  teachera and
philosophers and there are zpme
philoscplere who are alao teachers and
writers.

28, (d) Pather iz represented by the big circle

2Y. (2} Ordya and Urdy ure twe languages rop
resented by amall civelas in a Big one.

0. (a): Bnth bee and hovschird make neatz on
Tees.

S1.4d}: First comelusion is correet becauss
squares iz in the cirele and seme part ol
the pivele 1= in the triangle. SBecand
ecnclugion i3 correct which is clear
Trom the shaded ares. Third atatement
15 also corTect hocause square is jual
touching the ccipsc and last one is
WEOE.

32. (o) Triangle covers some parts of echpse.

3. (b} A man cun be a teacher as well as a
tailor master wAth hal{-heall{ub.

24 ia):
an. (i
d6.(a): 15+ 20 =Rh — 30 =35,
57.{d):
A D & T E F
R Blae  Blus  Red Blugd™ QHed
Ol oid Old Mew (Ol Nowy
law Phy Law Law #hy ( Phy
38. (b):
an (ck
40, (a): A+ C + Doctor& Tes

11+ A + Industralist £ Coffes

(rmly twid of themd

D + Industrialiat = coffee

B | Jotmnalist =ollee

B = Industeialist

DE Jaurnalist

Subtractimg B+ D hrem A+ B+ C+D
K

AT+ T =Tes

&> C + Doctor = Ten

L = Docter

£z brother i a farmor

A = Farmer

{ = Phyricist is the last professional.

42, (d):

43. (b} Father and motker are of egual rank
and two amall eiveles represent them
ard big circle reproscnting player: is
relatod e b in equal statua.

44. (a):

Ceztree Diam Mehesh Promod  Hesees!),

Badminton ¥ v

Tennis v .r v

Chesa ¥ v o

45, {b):

46, {c): Snuke 18 a replile Bt vaz iaadilileront
anirl,

A7, (e} Geat and sheep hothars eaclle.

18. (a): All the thige arc enfirely difforent
things frepeecdbed by uee
independent civdles.

49. (b): All #omengmethumans but anly sume
of them age educatad,

BO. (dhell Sarments are made of rlath and
shikl 15 5 warment.

61 (b):
Neagne “Baoder Singer Poel  Doncer Scinnture
L it s = w®
Farcz v X # %
Shihied £ ¥ x x v
Jolin = - -
AMarmgeet = < . ¥
2.{avBE+L+D
: (1

BE+Ca1 K

{)

C + (¢ nat possible

(3

G+D

{4

AIlG-T+F

(3]

53, (ak & plays all. 8o 25 - 5= 20
12plays Hand I S0 20— 7 = 13
Wplay Fand C. S 13={1 +/ =1
5 do nnt play any game,

54, (dxH
B

7

-

T

a

=t =] QM

"

4
Ho 25 —-18 =12
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